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In pre-modern India Sarais were used as the resting places for:

1. Army men

2. Merchants

3. Pilgrims

4. All the travelers

1)
(2)
(3)
(4)
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1[Option ID=22501]
2[Option ID=22502]
3[Option ID=22503]
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Badshah tomb marks the final resting place of the mother of:

1. Babur

2. Shah Jahan

3. Sultan Zain ul-Abidin
4. Bahadur Shah Zafar

1)
(2)
(3)
(4)

A W N R
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(2) 2
3) 3
(4) 4
1[Option ID=22505]
2[Option ID=22506]

3[Option ID=22507]
4[Option ID=22508]
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Utensils Museum is in:

1. Delhi

2. Ahmedabad
3. Kolkata

4. Hyderabad

(1)
(2)
(3)
(4)

T TURTT Hel Ud 87
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4. 3EEIG
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1[Option ID=22509]
2[Option ID=22510]
3[Option ID=22511]
4[Option ID=22512]
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QBID:93004

‘International Museum day’ is celebrated on the date indicated below:

1. January 20
2. March 20
3. May 18

4, June 18

(1)
(2)
(3)
(4)

A W N R
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(2) 2
3) 3
(4) 4
1[Option ID=22513]
2[Option ID=22514]

3[Option ID=22515]
4[Option ID=22516]
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QBID:93005

Which is not the meal code used in Inflight Services?

1. Hot Buffet - H

2.Lunch - L

3. Continental Breakfast - V

4. Food Available for Purchase - F

1)
(2)
(3)
(4)
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1)
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(3)
(4)
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1[Option ID=22517]
2[Option ID=22518]
3[Option ID=22519]
4[Option ID=22520]
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Why taxi cabs are yellow in colour as introduced logically by John D Hertz?

1. Yellow is an official colour certified by Government

2. Yellow is an auspicious colour chosen by the Company

3. Yellow with a tent of red is a very prominent colour to see from a distance
4. Yellow is the colour used by taxi operator for obtaining license

1)
(2)
(3)
(4)
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(1) 1
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(4) 4
1[Option ID=22521]
2[Option ID=22522]

3[Option ID=22523]
4[Option ID=22524]
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TGV, the first superspeed link in the French Rail Network between Paris and Lyon, stands for

1. Train Grande & Viterre
2. Transitee Group a Vitese
3. Train & Grand Vitesse

4. TEN a Grandeur Vite

(1)
(2)
(3)
(4)
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1[Option ID=22525]
2[Option ID=22526]
3[Option ID=22527]
4[Option ID=22528]
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The Yellow Sea is located between

1. China and Korea

2. Taiwan and Korea

3. The Philippines and Indonesia
4. Japan and the Korean Peninsula

1)
(2)
(3)
(4)

Uid R fTep &9 safud &2
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22529]
2[Option ID=22530]

3[Option ID=22531]
4[Option ID=22532]
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Mehrangarh Fort is located at:

1. Jodhpur
2. Bikaner
3. Jaipur

4. Udaipur

1) 1
) 2
(3) 3
(4) 4
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1. SYQR
2. 9B
3. SAQR
4. 39

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22533]
2[Option ID=22534]

3[Option ID=22535]
4[Option ID=22536]
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Handicrafts often grab tourist attraction. Finest silver filigree, locally called as 'Tarakasi’ is a popular aritsan work of
handicrafts from:

1. Odisha
2. Assam
3. Bihar
4. Gujarat

(1) 1
(2) 2
(3) 3
(4) 4
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1. S
2. HOH
3. fBR
4. ToRId

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22537]
2[Option ID=22538]

3[Option ID=22539]
4[Option ID=22540]
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Taj Mahal is a magnificent work of architecture. The architect of Taj Mahal was:

1. Ustad Ahmed Lahori
2. Ustad Amjad Lahori
3. Ustad Murad
4. Ustad Karim

(1) 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22545]
2[Option ID=22546]

3[Option ID=22547]
4[Option ID=22548]

Sl. No.12
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Famous Instrumentalist Ustad Amjad Ali Khan is known for his excellence in playing

1. Flute

2. Sitar

3. Sarod
4. Santoor

1 1
) 2




3) 3
(4) 4
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1. 8q
2. faR
3. WG

4. 9@

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22549]
2[Option ID=22550]

3[Option ID=22551]
4[Option ID=22552]
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Which of the following is not the airport code?

1. MCO - Orlando
2. 0GG - Kahului
3. ORD - Chicago
4. YHX - Calgary

(1) 1
2 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22553]
2[Option ID=22554]

3[Option ID=22555]
4[Option ID=22556]
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Which airlines began service in 1925 flying as a Crop Duster?

1. Delta Airlines

2. American Airlines
3. Northwest Airlines
4. United Airlines

1) 1




) 2
3) 3
(4) 4
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1[Option ID=22557]
2[Option ID=22558]
3[Option ID=22559]
4[Option ID=22560]

Sl. No.15
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Which of the following is the correct conversion factor from miles to kilometers?

1. 0.621
2.1.609
3.1.886
4.0.386

1)
(2)
(3)
(4)
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1. 0621
2.1.609
3.1.886
4.0.386
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1)
(2)
(3)
(4)
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1[Option ID=22561]
2[Option ID=22562]
3[Option ID=22563]
4[Option ID=22564]
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How many countries are members of Schengen Area?

1. 20
2.26
3.28
4.32




1) 1
(2) 2
(3) 3
(4) 4
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1.20
2. 26
3.28
4.32

(1)
(2)
(3)
(4)
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1[Option ID=22565]
2[Option ID=22566]
3[Option ID=22567]
4[Option ID=22568]
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Which of the following is not a basic element but an optional add-in for an inclusive Package tour?

1. Accomodation at destination

2. Aircraft Seat

3. Return transfer from airport to accomodation
4. Excursion

1)
(2)
(3)
(4)

A W N R
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(2)
(3)
(4)
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1[Option ID=22569]
2[Option ID=22570]
3[Option ID=22571]
4[Option ID=22572]
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The Car rental industry dominated by Hertz, Avis, Budget and National in 1960's and 1970's is referred to as:

1. Big Four
2. Model T
3. Thrifty
4, ECMN

1)
(2)
(3)
(4)
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(2)
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(4)
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1[Option ID=22573]
2[Option ID=22574]
3[Option ID=22575]
4[Option ID=22576]
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Thomas Cook PLC, a British global online/offline Travel company, created in June 2007, was floated on the UK Stock market
by the merger of thomas Cook AG and __.

1.50TC

2. MyTravel Group PLC
3. Thomson holidays
4. Le Passage

1)
(2)
(3)
(4)
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1[Option ID=22577]
2[Option ID=22578]




3[Option ID=22579]
4[Option ID=22580]
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Demerara Sugar is also known as:

1. Castor Sugar

2. Sanding Sugar

3. Granulated Sugar
4. Turbinado Sugar

1)
(2)
(3)
(4)
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2. BT
3. Igeics diHl
4. TSI I
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1[Option ID=22581]
2[Option ID=22582]
3[Option ID=22583]
4[Option ID=22584]
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'‘Promoting Learn to Excel’, which Indian Hotel Chain has launched e-learning courses for all:

1. The Lalit Group of Hotels
2. Taj Group of Hotels

3. Leela Group of Hotels

4. 1TC Hotels

1)
(2)
(3)
(4)
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(1)
(2)
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(4)
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1[Option ID=22585]
2[Option ID=22586]




3[Option ID=22587]
4[Option ID=22588]

Sl. No.22
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To nurture and develop young ambassadors, Ministry of Tourism, Govt of India launched a campaign with one of the
initiatives to develop ‘Tourism Clubs’. This has also been in view of celebrations of India @75. The name of this campaign is:

1. Dekho Apna Desh
2. YUVA TOURISM
3. Vande Bharat

4. Young India

1) 1
(2) 2
3) 3
(4) 4
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2. a1 ghed
3. d¢ URd

4. g1 gfean

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22589]
2[Option ID=22590]

3[Option ID=22591]
4[Option ID=22592]
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Which of the following is not the special guide book for searching hotel and restaurants internationally?

1. AAA guides
2. Gault Millau
3. Michelin Green
4. Mobil Guides
(1) 1
(2) 2
3) 3
4) 4
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2. 7iee e
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(1) 1
2) 2




3) 3
(4) 4

1[Option ID=22593]
2[Option ID=22594]
3[Option ID=22595]
4[Option ID=22596]
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For a hospitability firm the ability to provide quality service is the most effective means of ___ itself from competitors:

1. differentiating
2. positioning

3. identifying

4. distancing

1) 1
(2) 2
3) 3
(4) 4
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OR!
(2) 2
3) 3
(4) 4
1[Option ID=22597]
2[Option ID=22598]

3[Option ID=22599]
4[Option ID=22600]

Sl. No.25
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Adoption of various forms of technology has enabled hospitality firms to enhance customers’ ___ of the relative value of
various service offers.

1. Attitudes

2. Motivations

3. Perceptions

4, Communications

(1) 1
) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22601]
2[Option ID=22602]

3[Option ID=22603]
4[Option ID=22604]

Sl. No.26
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Data mining has increased the effectiveness and efficiency of ___ in the hospitality and travel industries.

1. Personality Characteristics
2. Direct Marketing

3. Attitudes

4. Allocentrics

1) 1
) 2
(3) 3
(4) 4
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1. Sfdded fALiwdmg
2. e fauoH
3. Attt

4. HTdeq

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22605]
2[Option ID=22606]

3[Option ID=22607]
4[Option ID=22608]
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Brandisa

1. Reinforcement
2. Satisfaction

3. Equity

4. Ssymbol

1) 1
(2) 2
3) 3
(4) 4
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1. QAT

2. Hdip

3. gHar (FHvgarm)
4. Wdid

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22609]
2[Option ID=22610]

3[Option ID=22611]
4[Option ID=22612]
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A methodological frame work for the "Aviation Satellite Account” (ASA) to measure the direct economic impact of aviation
on the national economy in line with the System of National Accounts (SNA 2008) adopted by the UN Statistical
Commission was developed by:

1. ATAG
2. ICAQ
3. IATA
4. ACI

1 1
(2) 2
3) 3
(4) 4
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1. T TS (ATAG)
2.¥EHUM (1 CcAQ)
LA UATUATA)
4TI 3MS (ACH)

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=22613]
2[Option ID=22614]

3[Option ID=22615]
4[Option ID=22616]
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To promote Buddhist tourism in India as a tourism product, Ministry of Tourism, Government of India in August, 2018
launched the website named

1. Landofbuddha.in

2. Indiathelandofbuddha.in
3. Thelandofbuddha.in

4. Buddhatheland.in

1)
(2)
(3)
(4)

YRd H T SdIG & ©9 H 81G T4 & YaR & 08 Gde Ha1ed, YRd IROR 1 37, 2018 H Ts dadTse & IHRY o,
ToTgT ATH T:
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1. landofbuddha.in

2. Indiathelandofbuddha.in
3. Thelandofbuddha.in

4. Buddhatheland.in

1)
(2)
(3)
(4)

A W N R

1[Option ID=22617]
2[Option ID=22618]
3[Option ID=22619]
4[Option ID=22620]
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QBID:93030

The First Indian State to develop Agro-tourism policy is

1. Gujarat

2. Odisha

3. Bihar

4. Maharashtra

1)
(2)
(3)
(4)

A W N =

1. ToRTd
2. g
3. f4BR

4. HeRT¥

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22621]
2[Option ID=22622]




3[Option ID=22623]
4[Option ID=22624]

Sl. No.31
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"Monument Mitras" under "Adopt a Heritage-Apni Dharohar Apni Pehchan” Guideline of Ministry of Tourism, Government
of India shall be through:

1. Expression of Interest
2. Expression of Intent
3. Expression of Vision
4. Expression of Ability

1) 1
(2) 2
3) 3
4) 4

Q-] HATaY, R SRR & Gu-Fae Tsip U eled - 3t eRige, U+t UgaH- & Sidiid "wR® e Fafafea g4
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1. Hfiefy @1 sfirefad
2. 3534 @I Hfiraafad
3. 2P § siftraafag
4. g 3t sfieafaa

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22625]
2[Option ID=22626]

3[Option ID=22627]
4[Option ID=22628]

Sl. No.32
QBID:93032

Type Il Error is committed in testing of hypothesis, when we

1. Accept Ho when it is false
2. Reject Ho when it is true

3. Accept Ho when it is true
4. Reject Ho when it is false

(1) 1
(2) 2
3) 3
(4) 4

3l @1 11 UBR fordl IRdedHT & Uian H dd Ul @rdl § o 8 H:

1. Ho @1 WIHR &d 3, Tai® I8 4 g
2. Ho B WIBR 18] X 5, wiaid T8 9 3
3. Ho @ WI®R & &, Jaih 98 9 o

4. Ho @I 3IDHR Hd &, el Tg HUd §|

1 1
) 2
3) 3




(4) 4

1[Option ID=22629]
2[Option ID=22630]
3[Option ID=22631]
4[Option ID=22632]
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Which amongst the following properties of Correlation Coefficient is not correct?

1. Pearsonian Correlation Coefficient can not exceed 1 numerically

2. Correlation Coefficient is independent of the change of the origion and scale
3. Two independent variables are uncorrelated but converse is not true

4. Two independent variables are correlated and converse is not true

(1) 1
) 2
3) 3
(4) 4
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1. TUods TEgey TUie S=E® ¥9 9 1 4 U@ 61 8 9]
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3. G WA R IR-UgHaiEd gid & fibg fovafa s adi g g
4.7 W07 T Fedeivd 81d & R fauafy g ad e g

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=22633]
2[Option ID=22634]

3[Option ID=22635]
4[Option ID=22636]

Sl. No.34
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Consider the following style of referencing:
MName, A., and other,S. (2022). Title of Journal Article’, Journal Title, 28(4): 109-39
This style of referencing is known as

1. Harvard Style
2. Oxford Style
3. APA Style

4. MLA Style

1) 1
(2) 2
3) 3
(4) 4
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1. 89S Srdl
2. HiamlS Adt
3. U U et
4. TH TS T Il

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22637]
2[Option ID=22638]

3[Option ID=22639]
4[Option ID=22640]

Sl. No.35
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Survey research on a sample, on more than one occasion, is a form of

1. Experimental Research Design
2. Cross-Sectional Research Design
3. Longitudinal Research Design

4. Case Study Research Design

(1) 1
(2) 2
(3) 3
(4) 4

s U A 9R e ufdeel R oo = aren wden oy Fgited & € g e wu e

1. U 2y i

2. ufaferes 2y e

3. 3l =Y SHiime

4. YRl (o) T Y SHHbey

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22641]
2[Option ID=22642]

3[Option ID=22643]
4[Option ID=22644]

Sl. No.36
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Who is regarded as the father of 'Brain storming’'- the best known technique for facilitating creativity?

1. Alex S. Osbarn
2. William Gordon
3. Donaldson Brown
4. Michael Porter




1) 1
(2) 2
(3) 3
(4) 4
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1. U0FT U, SREH
2. fafemm mda
3. SHICESHT F13H

4. 95%d U

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22645]
2[Option ID=22646]
3[Option ID=22647]
4[Option ID=22648]

Sl. No.37
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Who has developed 'The managerial grid' approach to leadership?

1. Robert Black Jane Mouton
2. Rensis Likert

3. Michael Porter

4. Edward Freeman

1)
(2)
(3)
(4)
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1)
(2)
(3)
(4)

A W N R

1[Option ID=22649]
2[Option ID=22650]
3[Option ID=22651]
4[Option ID=22652]

Sl. No.38
QBID:93038

__budget combines estimates of revenue, expenses and new capital expenditures

1. Cash

2. Financing

3. Profit

4. Balance Sheet




1) 1
(2) 2
(3) 3
(4) 4

___ §ofe d oied, 599 X U USivTd o0 Qifdd T oid g

1. @G
2. fag-awor
3. @Y

4. 4o UA (s¢id Bfie)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22653]
2[Option ID=22654]

3[Option ID=22655]
4[Option ID=22656]

Sl. No.39
QBID:93039

Cash flow statement classifies cashflow according to:

1. Inflow and outflow

2. Operating, investing and financial activities
3. Operating and non-operating activities

4. Sources and application of funds

1)1
(2) 2
(3) 3
(4) 4

] Ualg faaRur H fdrgds T8R Adcl Walg @l Fiidd fddl Srdl a2

1. 3iaalg 3k sfgale

2. e, e 3R fa<ig nfafafia
3. TaTaH AR TR-TEreH iafafeat
4. Fdid R (el &1 sy

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=22657]
2[Option ID=22658]

3[Option ID=22659]
4[Option ID=22660]

Sl. No.40
QBID:93040

Each line of latitude parallel to the equator, called parallels, runs from

1. East-West

2. North-South
3. East-South
4. North-East

1) 1




) 2
3) 3
(4) 4

HERT BT Td® @I, YA a1 & AR 9aai 8 __

1. 04-Uf&H
2. ITR-gigm
3. gd-alaun
4. FR-gd

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22661]
2[Option ID=22662]
3[Option ID=22663]
4[Option ID=22664]

Sl. No.41
QBID:93041

From the following identify the forts which are not brick and mud forts:
A. Ranthambhore

B. Junagarh or Bikaner

C. Chittor

D. Gwalior

E. Red Fort

Choose the correct answer from the options given below:

1.A,C DandE Only
2. A, B and C Only
3.B, Cand D Only
4.B and D Only

(1)
(2)
(3)
(4)

A W N R




frafafad 7 9 feodl @i ffed Sisit o e 2R g & fod =1 8
A, UHR

B. NG 1 S@T

c. fadits

D. TqTfeiaR

E. T ar

i feu 7 fadhedi & U U Iugad SR &1 994 DI

1.BaAA, C, D3R E
2. HadA, B, C
3.%ad B, C, D
4.%4dd B, D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22665]
2[Option ID=22666]

3[Option ID=22667]
4[Option ID=22668]

Sl. No.42
QBID:93042

Identify the correct statements from the following.

A. Tourism is a multidisciplinary subject

B. Multidisciplinary concept of tourism has led to a lack of clarity and definition in how to study tourism

C. Multidisciplinary perception about tourism has led researchers to define tourism as ‘reductionism’

D. In India, heritage and culture tourism as a subject is not a part of tourism syllabus

E. Some people view tourism as a subject emphasizing the holidays or enjoyment aspects of travelling

Choose the correct answer from the options given below:

1.B, C, D and E only
2. A, B, DandE only
3.A B, Cand E only
4.B, Cand E Only

1)1
(2) 2
(3) 3
(4) 4




frfeiad # 9 g8l vyl @1 fafgd ifo

A. T sglawd fawr &

B. SETAUd! YR Tde 30 B (Y WoR a1 oG, SH®! TPdl U8 URYTH] & 341G B R 3R &l &
C. aglaudt ary uded il & 34 SR & U H uRHINg &3 6 3R 3R o

D. YId H faurad Ud U¥@id wied fqua & w9 H e uiaashH &1 4T 6l &

£. B Ol Uded &I 990 & T H 384 & orgd gfedl o1 amn & ey Usq W 94 Gar s e

i feu 7 fadhedi o U U9l I SR & 994 Do

1.%ddB, C, D, E
2.%ad A, B, D, E
3. %A A, B, C, E
4.%dqAB, G, E

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22669]
2[Option ID=22670]

3[Option ID=22671]
4[Option ID=22672]

Sl. No.43
QBID:93043

Which of the following variables do affect climate of a tourism destination geographically?
A Latitude

B. Altitude

C. Snowfall

D. Wind

E. Rainfalls

Choose the correct answer from the options given below:

1. A Cand D Only
2.B, D and E Only
3. A Band D Only
4.C, D and E Only

1)1
(2) 2
(3) 3
(4) 4




Fufeiad o 9 ®FY 9 HRIt® €9 U gded & Tiged Rl @1 Jaarg i UHifdd &d 87
A. &=

B. goram

c. ferura

D.Uad

£ 3%
i< G U fa@eal § § T8 SR @1 904 D

1.®ad A, C 3R D
2.%ad B, D3R E
3.Bad A, B AR D
4.%aAC, D ARE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22673]
2[Option ID=22674]

3[Option ID=22675]
4[Option ID=22676]

Sl. No.44
QBID:93044

Which of the following waterfalls are correctly matched with their location of country and continent ?
A. Angel falls : Venezuela, South America

B. Jog falls : Banlgadesh, Asia

C. Niagara falls : United States/Canada, North America

D. Gavarnie falls : Germany, Europe

E. Southernland falls : South Island, New Zealand and the Pacific, Australia

Choose the correct answer from the options given below:

1. A B and C Only
2.B, Cand D Only
3.A CandE Only
4.C, D and E Only

1)1
(2) 2
(3) 3
(4) 4




frafeiad # 9 @11 9 Sia Yurdl &1 39 G2 3R Helelu &1 faieufd & 9y 98l €71 9 gAfed fbar 1 82
A. Sfole] oic UUTd - I-o]ucl, ST e
B. ST ST& WOTe « Sae S, UiRmr

C. T3 STe UuTd : Tad SHHRG/BATST, IR HHRS]

D. g oict WU - ST, gRIY
E. G- oIS SIeydTd : G40 g1d, eilcs iR WRid ; sl
i< U 71T fadhedl # U Tel SR &1 994 DIoilL:

1. BaAA, B3R C
2.%ad B, C AR D
3.Bad A CHRE
4.%aAC, D ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=22677]
2[Option ID=22678]
3[Option ID=22679]
4[Option ID=22680]

Sl. No.45
QBID:93045

Which of the following sweets are from North India:

A. Peda

B. Rasgulla

C. Modak

D. Pinni

E. Basundi

Choose the correct answer from the options given below:

1. A & B Only
2.B& COnly
3. A &DOnly
4.D & EQOnly

(1)
(2)
(3)
(4)

A W N R




fFmfcRad T # ¥ TR YRa 4 &1H 4 872
A T3T

B. THeET

C. dice

D. furedt

E. Tl
i< G U fa@eal § § T8 SR @1 904 D

1. ®dd A 3T B
2. %aa B3R C
3. Bad A AR D
4.P3AD ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=22681]
2[Option ID=22682]
3[Option ID=22683]
4[Option ID=22684]

Sl. No.46
QBID:93046

Which of the following National Parks and Wildlife Sanctuaries are in Southern India:
A. Kaziranga National Park

B. Kanha National Park

C. Nagarhole National Park

D. Periyar Wildlife Sanctuary

E. Keoladeo National Park

Choose the correct answer from the options given below:

1. A & B Only
2.B& COnly
3.C& D Only
4.D & EQOnly

(1)
(2)
(3)
(4)

A W N R




frafeiad # 9 ®F 9 AP 39 Ud aUs1a SHURYY Slanf HRa H 87

A, DN NS IR

B. BT5 AP A

C. AFRE AEE IIH
D. URTR gOild YRy

E. haTGd PTG M

i feu 7 fadhedi & U U Iugad IR &1 994 DI

1. ®dd A 3T B
2. %aa B3R C
3. %A C 3R D
4.P3AD ARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22685]
2[Option ID=22686]

3[Option ID=22687]
4[Option ID=22688]

Sl. No.47
QBID:93047

As in September 2022 which of the following states in India are officially dry states (No Liquor):
A. Haryana

B. Bihar

C. Gujarat

D. M.P.

E. U.P.

Choose the correct answer from the options given below:

1. A & B Only
2.B& COnly
3.C& D Only
4.D & EQOnly

1)1
(2) 2
(3) 3
(4) 4




fdeR 2022 9@ FMeftied § 9 &1 9 T sfiarie U 9 799 [itg I3 &:
A, BRamm

B. f[ER

C. {erid

D. HECH

E. IR Ued

i feu 7 fadhedi & U U Iugad SR &1 994 DI

1. ®dd A 3T B
2. %aa B3R C
3. %A C 3R D
4.P3AD ARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22689]
2[Option ID=22690]

3[Option ID=22691]
4[Option ID=22692]

Sl. No.48
QBID:93048

Which of the following are the railway stations in the Trans-Siberian Railway (TSR) between Moscow and Vladivostok
A. Perm

B. Kharbin

C. Novosibirsk

D. Tynda

E. Skovorodino

Choose the correct answer from the options given below:

1.B and D Only
2. A, CandE Only
3.Cand D Only
4.C, D and E Only

1)1
(2) 2
(3) 3
(4) 4




O] AR cGiaRam & 0 FY-URasid- Yad (€1 T 3R) H FafaRed § 4 iad €eH e U g?
A TH

B. WA

C. Aralfiiess

D. fEsr

E. TPIaRITSl

i< feu 7Tu fasedl H U Ul IR 1 90 BT

1.®ad B AR D
2. HaAUA, C3HRE
3. %A C 3R D
4.%aAC, D ARE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22693]
2[Option ID=22694]

3[Option ID=22695]
4[Option ID=22696]

Sl. No.49
QBID:93049

Which of the following are climatic features of a cooler humid tourism destination?
A. Rainy

B. Moderate Winter

C. Severe Cold

D. Steppe

Choose the correct answer from the options given below:

1.B and D Only
2.Aand D Only
3. A and C Only
4.B and C Only

1) 1
) 2
(3) 3
(4) 4




Biidaid 3T Ged oy &l siaarg Yadl [azivan HafeRag 5 9 o 1 g2
A Tl
B. AeiH XiBg

C.Udsde
D. UTH &1 AgH
I f&u U fadeal ° © 981 9% @1 994 D ei:

1. ®ad B AR D
2.Had A 3R D
3. HAAA IR C
4. %38 AR C

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=22697]
2[Option ID=22698]

3[Option ID=22699]
4[Option ID=22700]

Sl. No.50
QBID:93050

|dentify the countries which have a common currency

A MALI

B. NIGER

C. CHAD

D. ERITREA

Choose the correct answer from the options given below:

1.B, C, D Only
2.A, B, COnly
3.A, B, D Only
4.C, A D Only

1) 1
(2) 2
3) 3
(4) 4




Fufeiad o 9 34 o2l &l [ated Sife ! 521 te 99 82
A, HIeil
B. HIgoR

C.dls

D. gRfgal
o fGu T fadeat & 9 U8 IR @ 997 DI

1.HddB, C, D
2.BadA, B, C
3. BadA, B, D
4.%dAC A D

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22701]
2[Option ID=22702]

3[Option ID=22703]
4[Option ID=22704]

Sl. No.51
QBID:93051

Which of the following are Scandinavian Countries?

A, NORWAY

B. SWEDEN

C. ICELAND

D. DENMARK

Choose the correct answer from the options given below:

1. A B, Conly
2. A, B, Donly
3.B,C, Donly
4. A, C Donly

1) 1
(2) 2
3) 3
(4) 4




Fofafaa d @ Sfsafdus s aR v g7
A Td
B. Wig

C. AEIATS
D. SHHI®

i fgu U fAdeal & © U8l TR @1 98 L

1.BAAA, B, C
2.%ad A, B, D
3.HadB, C, D
4.%adA, C,D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22705]
2[Option ID=22706]

3[Option ID=22707]
4[Option ID=22708]

Sl. No.52
QBID:93052

Which of the following Indian dishes are deep fried?

A Vada

B. Kulcha

C. Bebinca

D. Gulab Jamun

E. Dosa

Choose the correct answer from the options given below:

1. A & B Only
2.A, B &COnly
3.A &D Only
4.D & EQOnly

1) 1
(2) 2
(3) 3
(4) 4




Fafafad & ¥ @Y YRd™ el & T84 ¥4 d 9al 91dl 82
A TSI

B. ardl
c. sfe=d

D. T[aTe ST
E. BT

i< G U fa@eal § § T8 SR @1 904 D

1. ®dd A 3T B
2.Had A, BIAHR C
3. Bad A AR D
4.P3AD ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=22709]
2[Option ID=22710]
3[Option ID=22711]
4[Option ID=22712]

Sl. No.53
QBID:93053

Key people associated with popular online Food Ordering & Delivery Service provider "Zomato' are:
A. Deepinder Goyal

B. Pankaj Chaddah

C. Rahul Jaimini

D. Nandan Reddy

E. A. 5. Kamat

Choose the correct answer from the options given below:

1. A & B Only
2.B& COnly
3.C& D Only
4.D & EQOnly

(1)
(2)
(3)
(4)

A W N R




BT AR Bs IS SR (Seliadl 9idy uass: <iHer 4 Ydt e oied 87
A. gifteR Tiga

B. Ul T&l

C. g SIEHl

IECRE]]

E. U UH Hd

i 6T 7Y fadhedl H 4 g1 I 31 99 B

1. &dd A R B
2. Haa B3R C
3.%aa C 3R D
4.%34aD ARE

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22713]
2[Option ID=22714]

3[Option ID=22715]
4[Option ID=22716]

Sl. No.54
QBID:93054

Which of the following folds are used for Bed Making in hotels:
A. Rose Fold

B. Foot Fold

C. Mitre Fold

D. Bishop Fold

E. Candle Fold

Choose the correct answer from the options given below:

1.A, B & C Only
2.B,C & D Only
3.B & COnly
4.C & D Only

(1) 1
(2) 2
3) 3
(4) 4




gled H a8 Aid 7 FEfaRed § 9 oY hiegw' (HIS) & JUdRT idhdl 9l 57
A. TS IS

B. ¢ Bits

c. A Bl

D. fa%U ®ics

£ B Bics

i< feu 7Tu fasedl H U Ul IR 1 90 BT

1. BaAA, B3R C
2.%ad B, C, 3R D
3. %ad B 3R C
4.PFACHRD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22717]
2[Option ID=22718]

3[Option ID=22719]
4[Option ID=22720]

Sl. No.55
QBID:93055

A hospitality company's total promotion mix consists of specific blend of various communication mix elements. Which of
the following fall under these elements?

A, Ambience

B. Sales promotion

C. Packaging

D. Personal selling

E. Cross selling

Choose the correct answer from the options given below:

1. A & C Only
2.B & D Only
3.C & E Only
4. A &EOnly

1) 1
(2) 2
(3) 3
(4) 4




et sifaes Hu-T & oo vaR e 7 fafay s o et & fafy aftsy afifee e 8) Feffea ¥ 9 o s aal
& Sl STdl 57

A. URGTI UH1E

B. fasg deman

C. GdbfaitT

D. AfaTd (el fawl

E. S (3idR) fast

i< f&u U fasedl 5 U U5l IR &1 999 DIl

1. BAAA IR C
2.%3d B AR D
3.Ha0 C HRE
4. PIAAARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22721]
2[Option ID=22722]

3[Option ID=22723]
4[Option ID=22724]

Sl. No.56
QBID:93056

Marketing intellegence includes everyday information about developments in the marketing environment that helps a
manager in decision making. Which of the following are NOT the internal sources of information?

A. Suppliers

B. Company's executives

C. Order to payment cycle

D. Company's owners

E. Competitors

Choose the correct answer from the options given below:

1. A & B Only
2.B & COnly
3. A &EOnly
4.D & EQnly

1) 1
(2) 2
3) 3
(4) 4




fquuH gfg &mal fauu araraRun (URaRn) H gu [dem & aR H Uldfcd @1 Y& &l 2H HRdl § 9l Yatd bl Holg-
o Y@ gidl | Fefafdd | 4 1 Gg-1 &1 o-Re W@id 18l 87

A. 3gfciadl

B. DU & DABRI

C. H7TdH 9% 5 G

D. B o Il

. ufergeff

i f&u e fadhedl 5 U U5l IR &1 999 DIl

1. dd A 3T B
2. %aaB AR C
3. BadA AR E
4. PHAD ARE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22725]
2[Option ID=22726]

3[Option ID=22727]
4[Option ID=22728]

Sl. No.57
QBID:93057

Which of the following destinations/sites have been identified for development under "PRASAD" scheme of Ministry of
Tourism, Government of India?

A. Deogarh & Parasnath (Jharkhand)

B. Trimbakeshwar (Maharashtra)

C. Ajmer (Rajsthan)

D. Konark (Odisha)

Choose the correct answer from the options given below:

1.A C D Only
2.A, B, COnly
3.A B, D Only
4.B,C, D Only

(1) 1
(2) 2
(3) 3
(4) 4




QR H3TaY, YRd SR &1 UhIG Jiol & favid Haffed 9 9 @1 O fiaaywd fofea g m 2

A GTR AR TR (FREUS)

B. TGP (FERTY)

C. AR ({ST=F)

D. S0 (SHTSI=M)

i< feg 7Y fasedl | 9 98l I B 99 BT

1.BaAA, C D
2.Bad A, B, C
3.BadA, B, D
4.%ad B, C, D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22729]
2[Option ID=22730]

3[Option ID=22731]
4[Option ID=22732]

Sl. No.58
QBID:93058

Which of the following Indian elements were inscribed in "UNESCO's list of Intangible Cultural Heritage of Humanity' in the

same year
A. Kumbh Mela

B. Yoga

C. Chhau Dance

D. Kalbelia folk songs and Dances of Rajsthan

E. Mudiyettu, ritual theatre and dance drama of Kerala
Choose the correct answer from the options given below:

1.B,C, D only
2.C, D, Eonly
3.A B, Conly
4. A, D, Eonly

(1) 1
(2) 2
3) 3
(4) 4




GIRDI T AT Bl S ARGl farad g2l H e ol af J Fafcied YRdg dal § 4 o 4 3@l 47
A P I

B. I

C.9% d

D. ASTYT I Haelicrdl Tl -Tiid Gd I

E. TR® @l Hiod-] DHGIS! (Rgad) fBhex 3R 7a

=i f&T 7T fadedl # U TEl IR &1 999 Do

1. 944 B, C, D
2.%adC, D, E
3.BaAA, B, C
4. PIAA, D, E

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22733]
2[Option ID=22734]

3[Option ID=22735]
4[Option ID=22736]

Sl. No.59
QBID:93059

Identify the tourist sites which are being developed under ‘lconic Tourist Destination Scheme’ of Ministry of Tourism,
Government of India

A. Hampi (Karnatak)

B. Dholavira (Gujarat)

C. Somnath (Gujarat)

D. Mahabodhi Temple (Bihar)

E. Belur (West Bengal)

Choose the correct answer from the options given below:

1.A C D Only

2.A,C, D, BOnly
3.A C D, EOnly
4.A B,C EOnly

1) 1
(2) 2
(3) 3
(4) 4




G HATY, HRA IRGR B HIUIPIE® Yded Tiqed dioHT & Sicrid [daidd giH ard Wed ®id d1H 4 87

A. Bl (@ie®)

B. HaRT (ToRId)

C. GIFAY (oRT)

D. HETsify HieR (faem)

E. S (U3 S7Ta)

=< feu 7Tu fadedl H 4 Wl IwR & 90 BIoig:

1.HaAA, G, D

2.%adA, C D, B
3.%ad A, C D, E
4.PdAA B, CE

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22737]
2[Option ID=22738]

3[Option ID=22739]
4[Option ID=22740]

Sl. No.60
QBID:93060

Which of the following are NOT the assumptions of Parametric tests?

A. Variables described are expressed in nominal or ordinal scales of measurement

B. The population values are normally distributed

C. The samples have equal or nearly equal variances

D. Selection of one case in the sample is not dependent upon the selection of any other
E. The variables are represented by frequency counts

Choose the correct answer from the options given below:

1. A and B Only
2.B and C Only
3.Cand D Only
4. A and E Only

1) 1
(2) 2
3) 3
(4) 4




Pigfeas 78 @1 wrafm Tl @1 @R 78 2

A TR AT S ATHS 3T YIS 99 Ao el &

B. SIHEEH HIF Uyl faHiferd gid §

C. Hfaresl & GO Sal T THF R Ed 8

D. Wideel # fodl Us A &l 98- il 3R & 98- IR R 81 glal o
£. IR IRERA1 TS gRI e fae o &

< T e fadeal o U 9ay SUgeEd SR 31 904 DI

1. ®dd A 3T B
2. %aa B3R C
3. %A C 3R D
4. PIAAARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22741]
2[Option ID=22742]

3[Option ID=22743]
4[Option ID=22744]

Sl. No.61
QBID:93061

Following are univariate statistical techniques, except

A Logit Analysis

B. Conjoint Analysis

C. Mann-Whitney

D. KW. Anova

E. Paired t-test

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.D and E only
4. A and D only

1)1
(2) 2
(3) 3
(4) 4




39 sifdiiad U 4y gifensty wiafml Fafatad €
A. Tilfore fa=eimo

B. qfe® e

C. HF-gaIge

D. &. S&, TAMI

£, gRET-1-gd1ar

i e 7Y fashedl H 9 21 I 31 989 SO

1. ®dd A 3T B
2.%ad C AN D
3.%ad D AR E
4. PIAA AR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22745]
2[Option ID=22746]

3[Option ID=22747]
4[Option ID=22748]

Sl. No.62
QBID:93062

Qualitative research emphasises the following, except

A. Entails a deductive approach to the relationship between theory and research

B. Embeodies a view of social reality as an external, objective reality

C. Emphasises an inductive approach to the relationship between theory and research

D. Rejects the practices and norms of the natural scientific models

E. Embodies social reality as a constantly shifting emergent property of individual's creation
Choose the correct answer from the options given below:

1. A and C Only
2.B and C Only
3.Aand B Only
4.D and E Only

1)1
(2) 2
(3) 3
(4) 4




UG HfaRad, oA 2y FufaRed R 9 a1 &:

A Fogid 9k Ty & 59 49y 5g FHAES JUFH HIaW0® oldl o
B. Ao JUrHdl & Ud aTel, Tvame gurfd & [9aR & €0 5 0&gd @dl &

c. frgid ud 2y & 921 GaY 8q S THTES SUFH WX 96 Gl &

D. Ui ldd axiii-db Uil ®I HUTL Ud HFI &l Ws4 dal o
E. g1 gurddl &1 eafdd & goi- &I 9dd €U 4 RIFRUGR] SUIfad 70 & EY9 H Udd &Hdl &
< T e fadeal o U 9ay SUgeEd SR 31 904 DI

1. BaA A IR C
2. %aa B3R C
3. had A AR B
4.P3AD ARE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22749]
2[Option ID=22750]

3[Option ID=22751]
4[Option ID=22752]

Sl. No.63
QBID:93063

Given below are statements about leverages. Which of these are NOT correct?

A. Operating leverage affects a firm's profit after tax and financial leverage affects a firm's EBIT

B. The rate of return on the owner's equity is leveraged above or below the rate of return on assets

C. Financial leverage provides the potential of creating the risks

D. Greater the borrowing, the greater is the risk of unprofitable leverage and greater the chance of gain
E. Financial leverage decreases shareholders’ risks

Choose the correct answer from the options given below:

1. A & E Only
2.B& COnly
3.B&DOnly
4.C & D Only

(1) 1
(2) 2
3) 3
(4) 4




i Seiier (et & a1 H o SY Y 8 399 O B uel &

A. TREITTH JaieH (TR i) U B & @ 9yTd a1y @1 UHIEd Bl & SR (90 Saia U@ BH & 5.61.301%.21. B
TYIad BT &

B. T @1 3fehel IR Uidhd &X IRTHEE IR Uiahd & & S 91 1< gaifad aldl &

C. fawiig IdicH SIREH! &I Ida ©3- $I FHIGH] YaH Bl o

D. foret st Surdl gift, 3ot 21 sraruva Saiad &1 Sifa 3R Ia4 81 3ifis ulded &1 9uE 2
. Ta<iTg SieH ARURS! & SIRaHl J BH 6 8

=i f&u U fadedl 5 U TEl IR &1 999 DT

1. Bad A IR E
2. %aaB AR C
3. Bad B3R D
4.PHACHRD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22753]
2[Option ID=22754]

3[Option ID=22755]
4[Option ID=22756]

Sl. No.64
QBID:93064

Given below are characteristics of Personality. Which ones are NOT the characteristics of ‘Type A" personality
A. Multitasker

B. With strong need to win

C. Always in a hurry

D. Patient when interrupted

E. Aware of larger environment

Choose the correct answer from the options given below:

1.B & C Only
2.D & EQOnly
3. A &B Only
4. A & COnly

(1) 1
(2) 2
(3) 3
(4) 4




i safdaa @1 92wt €1 18 8] 378 Bl el3u-U diddd ol [a2Nand g o7
A Gg-® ®HA arell

B. oo/ @1 wae Sia=gdd

C. Hed Sleaarsil §

D. Y SIeH R Fa=

E. 98w ddIaV] & aN § AiEd

o fGu U fadeal & O U IUgad SR @ 994 D

1. ®aa B 3R C
2.%ad D ARE
3. had A AR B
4. PIAA AR C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22757]
2[Option ID=22758]

3[Option ID=22759]
4[Option ID=22760]

Sl. No.65
QBID:93065

With regard to decentralization of authority, given below are some statements. Which ones are NOT correct?
A. Facilitates setting up of profit centres

B. Facilitates adoption to fast changing environment

C. Facilitates having a uniform policy

D. Facilitates control by upper level managers

Choose the correct answer from the options given below:

1. A & B Only
2.C&DOnly
3.B & C Only
4. A & D Only

1) 1
(2) 2
(3) 3
(4) 4




W] & [dbaidRul & a9 H MutiRed sy i (U U §] SFY $u- 98l 87
A TTH H5l I WO B GIH §1dT1 &

B. ol § Saeid UAiaRul &I U H TH &1 8

C. THgAH ifd W= ¥ g s 8

D. U TR & Yaud| gRI 801 &I GrH &-1dl &

i< feg 7Y fasedl | 9 98l I B 99 BT

1. Had A AR B
2. ®%ad C AN D
3. Haa B 3R C
4. %Had A 3R D

1)
(2)
(3)
(4)

A W N R

1[Option ID=22761]
2[Option ID=22762]
3[Option ID=22763]
4[Option ID=22764]

Sl. No.66
QBID:93066

Match List I with List Il

List | List Il

Lakes States

A. Damdama Lake |l Rajasthan

B. Pushkar Lake Il. Haryana

C. Kolleru Lake lIl. Andhra Pradesh
D. Loktak Lake V. Manipur

Choose the correct answer from the options given below:

TA-LB-ILC-1V,D-1I
ZA-ILB-1LC-U,D-1V
.A-ILE-IILC-IV,D-1
4AA-NL,B-IV,C-1I,D-1

1)
(2)
(3)
(4)

A W N B




Tl-1 & WY Y- 11 BT [BeaH B :

TA-LE-ILC-IV,D-1
2ZA-ILB-1LC-U,D-1V
3A-ILB-IILC-1IV,D-1
4AA-NIL,B-1IV,C-1I,D-1

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22765]
2[Option ID=22766]

3[Option ID=22767]
4[Option ID=22768]

gail-1 SiTeT G-Il I
A THGH 9 1. AT
B. 5 3 I1. i
C. BITE i I11. 3% =T
D. Tidad S Iv. HOgR
i< feu 71u fadedl | 9 Wl 3wk & 904 BIeile:

Sl. No.67
QBID:93067

Match List I with List Il

List 1

List Il

Kinds of Islands

Names of Islands

A. Continental Islands

|. The Bahamas

B. Tactonically-Formed Islands

IIl. The Hawaiian Islands

C. Volcanic Islands

I1I. Trinidad

D. Coral Islands

I\V. Barbados

TA-ILB-IL,C-IV,D-I
ZA-IV,B-ILC-1,D-1I
A-LE-NIILC-IV,D-1
4 A-NL,B-1IV,C-1I,D-1

1) 1
(2) 2
3) 3
4) 4

Choose the correct answer from the options given below:




Tl-1 & WY Y- 11 BT [BeaH B :

-1 (61U & ToR) -1l (G0 & )
A, HETGE g1 . G S5

8. SaIdTl- RS 219 Il G B3 &g
C. SEIaHEE gig . fBterg

D. UaTdl 21U Iv. REEg

i feu T1u fadedl # ¥ Hel 3Tk &l 994 DIl

TA-ILE-IILC-IV,D-1
2ZA-IV,B-IL,C-1,D-1I
3A-LEB-NILC-IV,D-1
4AA-NIL,B-1IV,C-1I,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=22769]
2[Option ID=22770]
3[Option ID=22771]
4[Option ID=22772]

Sl. No.68
QBID:93068

Match List I with List Il

List | List 11

Dance Region Associated
A. Bhavai I. Maharashtra

B. Gorava IIl. Assam

C. Dholacha Nach  |lll. Karnataka

D. Nut Puta IV. Rajasthan

Choose the correct answer from the options given below:

TA-LB-N,C-ILD-1V
ZA-NLB-1,C-1V,D-1
3.A-IV,B-IILC-1,D-1
4 A-IV,B-1ILC-1I,D-1

1)
(2)
(3)
(4)

A W N =




Tl-1 & WY Y- 11 BT [BeaH B :

TA-LE-NIILC-1,D-1V
2ZA-NLB-1,C-1V,D-1
A-IV,B-IILC-1,D-1
4 A-IV,B-1ILC-1I,D-1

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22773]
2[Option ID=22774]

3[Option ID=22775]
4[Option ID=22776]

-1 7 -1l Galsd &7
A HIEE |. HERTY

8. TR I1. 39H
IGEIEIE] IIl. TS

D. 92 d V. TR

i< f&u U fadedl 5 U T8l 3T & 9949 DIl

Sl. No.69
QBID:93069

Match List I with List Il

List | List 11

Name of the Wind |Location of Wind

A. Buran I. East of Rock Mountains and Canada

B. Chinook Il. Mediterranean region, particularly Italy and Greece
C. Leveche IIl. Siberia

D. Sirocco IV. Northern Spain

T.A-W,B-U,C-Il,D-1
ZA-NILB-1L,C-IV,D-1
A-ILBE-IILC-1L,D-1V
4AA-LB-IV.C-III,D-1

1) 1
(2) 2
(3) 3
4) 4

Choose the correct answer from the options given below:




Tdi-1 & WY Yaii- 11 BT [BaH Difo :

Yl-1 g BIAH [ Gail-1l uad Bl Rl

A TA . X@ HIGHUH & Jd HR B8

8. T ® I, YTEOORRT &7, fa=ma: Seeil iR g9
. a9l 1. Frgafan

D. RRi®! WASEEIESE|

i< fGu U fa®eul 4 O el IR @1 904 SIWig:

TA-IW,B-II,C-I,D-1
2ZA-NILB-1L,C-IV,D-1
LA-ILB-IIL,C-1L,D-1V
4 A-LB-IV.C-1II,D-1

1)
(2)
(3)
(4)

A W N =

1[Option ID=22777]
2[Option ID=22778]
3[Option ID=22779]
4[Option ID=22780]

Sl. No.70
QBID:93070

Match List | with List I

List | List Il

Aircraft Equipment Code  |Aircraft Name

A 733 I. Boeing 737-300

B. 737 Il. Boeing 737-200
C.73M lll. Boeing 737

D. 735 IV. Boeing 737-200C

Choose the correct answer from the options given below:

TA-ILB-IILC-IV,D-1
2ZA-VEB-NILC-1,D-1
A-LE-NIILC-IV,D-1
4A-1ILB-NL,C-1,D-1V

1)
(2)
(3)
(4)

A W N =




Tdi-1 & WY Yaii- 11 BT [BaH Difo :

Idl-| IGHA JUG DI gl- 1l TRHA BT A
A. 733 I T2 737-300
B.737 I1. ST 737-200
C.73TH 111, SIS 737
D.73TH V. F2T1 737-200 4t

i< fGu U fa®eul 4 O el IR @1 904 SIWig:

TA-ILB-IL,C-IV,D-I
ZA-IV,B-IILC-I,D-1
3A-LB-NILC-IV,D-1
AA-1ILB-NL,C-1,D-1V

1)
(2)
(3)
(4)

A W N =

1[Option ID=22781]
2[Option ID=22782]
3[Option ID=22783]
4[Option ID=22784]

Sl. No.71
QBID:93071

Match List | with List I

List | List Il

Dish Region

A. Pathar ke Kebab l. Bengal

B. Galouti Kebab Il. Awadh

C. Chingari Malai Curry  |lll. Goa

D. Dodol IV. Andhra Pradesh

Choose the correct answer from the options given below:

TA-LB-IILC-1,D-1IV
2ZA-LB-ILC-1L,D-1V
A-IV,B-ILC-1,D-1I
4A-IV,B-1,C-1I,D-1I

1)
(2)
(3)
(4)

A W N =




Tl-1 & WY Y- 11 BT [BeaH B :

-1 (@) -1l (&)
A. TR & Bald |, ST
B. TTaIe] ae 11, 3T
c. i e &4 111, 7TraT
D. 3| I\, 378 HewT
i< f&u U fadedl 5 U T8l 3T & 9949 DIl
T.A-LB-IIL,C-1,D-1V
2.A-1LB-1,C-1,D-1IV
3.A-IV,B-1I,C-1,D-1lI
A A-IV,B-1,C-1l,D-1
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22785]
2[Option ID=22786]
3[Option ID=22787]
4[Option ID=22788]
Sl. No.72
QBID:93072
Match List I with List 11
List 1 List Il
Concepts Description

A. Discriminatory
pricing

I. Yield management system used to maximise a hotel's yield or contribution margin

B. Revenue
management

Il It gives guests a reason to come and gives a positive image for the hotel

C. Psychological pricing

Ill. Segmentation of the market and pricing differences based on price elasticity characteristics of
segments

D. Promotional pricing

IV. Aspects such as prestige, reference pricing, round figures etc used in pricing

Choose the correct answer from the options given below:

1)
(2)
(3)
(4)

TA-LBE-ILC-1,D-1IV
2ZA-IV,B-1.C-1l,D-1I
A-ILB-LC-IV,D-1
AA-ILB-LC-N,D-1V

2
3
4




Ti-1 & WY Yaii-1 BT [HaH DI

gi-1
T -1 (faazom)

X |. Feit a1 $I IAGH &1 & HI4d gled Bl
ANCHID e o STER o= &I Hfiman B3 5g
e VIR o Tl B

II. I8 Hfafal @ gled § - ud 39d aR H
THRIAD S1a &M og U HRY YGH Bl o

C. THIGTIA® I |I11. §US! & DITd Td [A=Tars T H1eRd SR 3R
T T 3Rl BT EalhIu

V. {ea- H TR, Yo oo, quied sid safe

W T W 8

d feu U fadhedl H U 9el 3Tk &l di-] diail;

B. TTo1d UatH

D. TR ed

TA-LE-ILC-U,D-1V
2ZA-IV,B-1,C-1,D-1I
3.A-ILB-L,C-IV,D-1
4AA-1LB-1,C-U,D-1V

1)
(2)
(3)
(4)

A W N R

1[Option ID=22789]
2[Option ID=22790]
3[Option ID=22791]
4[Option ID=22792]

Sl. No.73
QBID:93073

Match List | with List I

List | List Il
Airlines Features
A. American Airlines based in Dallas . First domestic carrier to provide coast-to-coast passenger service

B. Trans Werld Airlines based in New York|ll. Formerly known as Allegheny Airlines

C. United Airlines based in Chicago [11. First airline to establish a central training school for flight attendants

D. US Air based in Arlington, Virginia IV. First airline to operate in all 50 states and serves over 200 cities worldwide

Choose the correct answer from the options given below:

TA-ILB-IV,C-I,D-1
2ZA-1LB-1,C-IV,D-1
3A-IVB-N,C-1,D-1
448-1LB-V,C-1,D-1

1)
(2)
(3)
(4)

A W N =




Tl-1 & WY Y- 11 BT [BeaH B :

Tdl-| U3RT Ii- 11 faan
A. Goery Ryd |. ¢ 9 e gl Ha1 YeH S arel Ty 9y
WERTATRATY  [GRD
B. <l &Yd gy Il gd H TNl USRS A § S Sl
CIEREEGIER] oft
c. e g . T3 afarial 8 Sl urian Wb
TIECS URABH ITUd S drell BYH TSR
Iv. G 50 I9T SR fagyeamdt 200 e
g\-ﬂ?mm s et ST o< e
PUE RS RIES]
d feu e fadeal ® U Ul SR & 99 Dol -

T.A-ILB-IV,C-Il,D-1
ZA-NLB-1L,C-IV,D-1
A-IV,B-IILC-1,D-1
4AA-NLB-IV,C-1,D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=22793]
2[Option ID=22794]
3[Option ID=22795]
4[Option ID=22796]

Sl. No.74
QBID:93074

Match List | with List 11

List |

List Il

Types of Variables

Description

A Interval Variables

I. Variable containing data that have only two categories

B. Ordinal Variables

II. Variables whose categories can be rank ordered but the distances between the
categories are not equal across the range

C. Nominal Variables

1l. Variables whose categories can not be rank ordered

D. Dichotomous Variables

IV. Variables where the distances between the categories are identical across the
range

Choose the correct answer from the options given below:

TA-IW,B-ILC-1I,D-I
2ZA-LB-ILC-IV,D-1I
3A-ILB-IILC-1IV,D-1
4AA-LB-1ILC-I,D-IV

1)
(2)
(3)
(4)

A W N R




Idl-1 & Ty Gt -1 BT FHEH DI

- (RS
TR Til-11 fgazo

A, 3FIRTE R 1. s B T B a1d =R o1 $de ol dicdl &

B.pAYA®  |II. TR foH®! DIfcTl hHds Y H 3@l ol dbdl § [y
EQ @ifedl & A gl I o THH A8l §

C. THS I |1, =W a1 Bifeal wHas @ § To 1@l oIl 9ddl

T - \v. T o @ifeat & A9 gival 9ol 39 § 99 Y sl

I fGu T fa®edl & ¥ 981 SR &I 904 Sifeu

T.A-IW,B-1I,C-1ll,D-1
2ZA-LEB-ILC-IV,D-1
A-ILB-IL,C-IV,D-I
448-1LB-ILC-M,D-1V

1)
(2)
(3)
(4)

A W N R

1[Option ID=22797]
2[Option ID=22798]
3[Option ID=22799]
4[Option ID=22800]

Sl. No.75
QBID:93075

Match List | with List 11

List | List Il

Tests Test Measure

A. Intellegence test |l Mental capacity

B. Proficiency test Il. Potential for acquiring skills
C. Vocational tests Il. Suitable area of interest

D. Personality tests  |IV. Leadership potential

Choose the correct answer from the options given below:

T.A-ILBE-IIL,C-1IV,D-1
2ZA-LB-IL,C-1,D-IV
A-ILB-ILC-IV,D-I
AA-LEB-ILC-1L,D-1V

1)
(2)
(3)
(4)

A W N R




Tdl-1 & WY Yai-1l BT [HaH DI

-1 (o) -1 (Ttem Am)

A, G- &1 GLE |. AFRED &HdT

8. 10T GRIET 11, DI W B B FrTedl
C. HaHIaD UI&0 111 3T @ I9gad &

D. Sfdded TI&mT IV, = HHTE

i< f&u U fadedl 5 U T8l 3T & 9949 DIl

TA-ILE-IILC-IV,D-1
2ZA-LB-NL,C-1,D-1V
3.A-ILB-ILC-1IV,D-1
4 A-LB-1LC-U,D-IV

1)
(2)
(3)
(4)

A W N R

1[Option ID=22801]
2[Option ID=22802]
3[Option ID=22803]
4[Option ID=22804]

Sl. No.76
QBID:93076

Arrange the following rivers in sequence from North to South:

A. Seine
B. Nile

C. Thames
D. Rajang
E. Kaveri

Choose the correct answer from the options given below:

1.B,A CED
2.D,CAEB
3.CABED
4.D,C A B E

1)
(2)
(3)
(4)

A W N =




ffeRad Ffedl o I ¥ gfEw & A H aieyd SIS
A EHH

B. =l

c.TH

D. I

E. BIaR1

i 76U 7Y fashedl H U 21 I 31 99 BT

1.B.ACED
2.D,CAEB
3.CABED
4.0, C A BE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22805]
2[Option ID=22806]

3[Option ID=22807]
4[Option ID=22808]

Sl. No.77
QBID:93077

Grand Tour was conducted in the following routes in Europe between 1661 and 1700. Arrange the destinations in a
sequential order of their location geographically from North to South.

A, Paris

B. Rome

C. Londen

D. Geneva

E. Venezia

Choose the correct answer from the options given below:

1.ACBDE
2.B,AEDC
3.CADEB
4B, CADE

(1) 1
(2) 2
(3) 3
(4) 4




1661 3R 1700 & &9 QRIY H Fgfafad arl W 918 g3 Sifed fadr 1) 38 fided ®IFl & HITIad $U U IR 4 Glau
DI R 3D afUfd H HHYR Hafyd i

A URE

B. M

C. dad

D. SHaT

. aHfomn

i f&u U fadhedl 5 U U5l IR &1 999 DI

1.ACBDE
2.BAEDC
3.CADEEB
4B, C,ADE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22809]
2[Option ID=22810]

3[Option ID=22811]
4[Option ID=22812]

Sl. No.78
QBID:93078

Arrange the following landmarks in Indian History in chronological order (from first to last)
A. Marco Polo visits India

B. Accession of Harsh Vardhan

C. Ibn Batutta visits India

D. First Battle of Panipat

E. Birth of Guru Nanak Dev

Choose the correct answer from the options given below:

1.EA B D C
2.BCAED
3.BACED
4.4 B CDE

1) 1
(2) 2
(3) 3
(4) 4




YRAH gidem &1 Ffafed Ui gesl & SrasauR sfafyd I (1 4 3
A. HIDTUTE BT HRA S

B. THGEH BT ITRIET

C. 39 Sqd1 & YR HRTEA

D. UHIYd &I U4H g5

E. 7% AF® d Bl o H

i e 7Y fashedl H 4 21 IR BT 98 BIoiL -

1T.EA B DC
2.BCAED
3.BACED
4. A B CDE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22813]
2[Option ID=22814]

3[Option ID=22815]
4[Option ID=22816]

Sl. No.79
QBID:93079

Arrange the following tourist attractions on the highways in Australia, running from North to South, in a sequential order

A. Victoria

B. Barossa Valley

C. Coober Pedy

D. Ayers Rock

E. Alice spring

Choose the correct answer from the options given below:

1.A B, CDE
2.B,ADEC
3.ED.CBA
4. CABDE

1)1
(2) 2
(3) 3
(4) 4




SR H TSTANTT IR Uded SAIDUUIT ol 3TR H GIAI S @ 59 H AR HaRyd DI
A. fageiian

B. &I It
C. P Ut
D. 31 Adh
E. fery i
=< feu 7Tu fadedl H 4 Wl IwR & 90 BIoig:

1.A, B, CDE
2.B,ADEC
3.ED.CBA
4.C,ABDE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22817]
2[Option ID=22818]

3[Option ID=22819]
4[Option ID=22820]

Sl. No.80
QBID:93080

Arrange the following “"Freedom of the Air* as introduced by ICAQ, in a sequential order.

A. Rights of an Airline to fly over a country without landing

B. Rights of an Airline to make a stop in another country to refuel or make repairs

C. Rights of an Airline to fly within another country, not its home country

D. Rights of an Airline to fly passengers between two countries, neither of which is its home country
Choose the correct answer from the options given below:

1.B,ACD
2ACBD
3.A,B,CD
4. A B, D, C

1) 1
(2) 2
(3) 3
(4) 4




HTg U1 U 31 gRT $RY FRfeRed WisH HI® & UeR' @I 3F%HH H aaiyd dIfo:

A, Tl TeRdEA @1 941 3 691 531 & IW U I &1 SUHR

8. Tl TR &1 U7: $8F YR T A3Hd 4 & 1070 30 ¢F H 36+ @1 HIHR

C. Tt UaRdmRA &1 0 T8 ¥ H el Hiiq o= o= H 38H Y- @1 HPR

D. for it T3RTE B Gl &2 & T8 AT B AP SSH ¥R @I SHUBR, Faith T IUDI T8 ST Tl &
i<l T 7Y fadhedl H 9 &l IR 31 98 BT

1.B,ACD
2ACBD
3.3ABCD
4.4, B, D, C

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22821]
2[Option ID=22822]

3[Option ID=22823]
4[Option ID=22824]

Sl. No.81
QBID:93081

Arrange the following dishes in the correct sequence to be placed in a table d’hote menu:
A. Cannelloni of scallop with ginger veloute

B. Tomato gazpacho with marinated prawns and avocado cream

C. Poached Bresse Chicken with a blanguette of root vegetables and morels

D. Fondant of Strawberry with Lychee Sorbet

E. Coffee and Friandises

Choose the correct answer from the options given below:

1.B,A CDE
2B CEAD
3.3)AEDCB
4 A EBCD

1) 1
(2) 2
3) 3
(4) 4




frfeiRad sl @1 s ¢od Si* gid g H T@d g ¥el oA H Haieyd Hifeg|
A. TSloR Ieiad @ |1y hceiil 3 Whewiy

B. ARACS U 3R Wi Sl 1d & WY e ISl

C. Udb sci=hdll Sl B¢ duilcged AR ARCH b 1Y Ules siol [

D. iifdl Hide & Ay FIHT 3 Bise

E. BIBT 3R Thaisas

i e 7Y fadhedl H 4 2! I BT 994 BIE:

1.B,A CDE
2.BCEAD
3.AEDCB
4. A EBCD

1)
(2)
(3)
(4)

A W N R

1[Option ID=22825]
2[Option ID=22826]
3[Option ID=22827]
4[Option ID=22828]
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Given below are stages of the consumer buying process. Arrange these stages in logical sequential order in which these are
covered

A. Need recognition

B. Evaluation of alternatives

C. Purchase decision

D. Information search

E. Post purchase behaviour

Choose the correct answer from the options given below:

1.A B, CDE
2.BEACD
3.C,D A BE
4.A DB CE

1)
(2)
(3)
(4)

A W N R




I IuHiEar Y (@iie) Uissal & =Ru1 fEU 1Y € FHafeRad =Ron &f 39 difthd SipH H aieyd Sioid forgH J Il 31d 8

A, SIGRYddl UgdlH

8. fameal &1 geaic

C. Y g

D. g2HT Bl @la

£, IR (& U4TT) TTTER

i 2T 71U el H 9 951 SR &1 907 BT

1.A B CDE
2.BEACD
3.C,DABE
4.A DB CE

1)
(2)
(3)
(4)

A W N R

1[Option ID=22829]
2[Option ID=22830]
3[Option ID=22831]
4[Option ID=22832]

Sl. No.83
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Transport Policies of USA and UK have passed through the following distinct phases. Arrange the phases in order of their
occurance:

A. The Railway Age

B. The Age of Administrative Planning

C. The Age of Contestability

D. The Age of Protection

E. The Age of Public-Private Partnership

Choose the correct answer from the options given below:

1.B,A D CE
2.C,B.DAE
3.A,D,B CE
4.D, A B CE

1)
(2)
(3)
(4)

A W N R




YUy U AR Y b B JIaAd i FafaRad [y sawmsi & gRT Uiid ®f 15| 37 SaR13il & 34d ey & SfHH H
YT BT

A. G YT U Rag)
B. © Ul 31 USiiFeciea wii- (wemai-ies Hgier gm)

o oY

C. & U9 A6 d=wfafad! ([Garems 7m)

D. § Udl 3 WICa=H (&0 )
E. T U 31 Ufeior-Wgde Ue-RIAT (@ewi-ie -1 TEar! )
== fGu U faweul § © TEl ST @1 984 S

1.B,A D CE
2.C,B.DAE
3.A,D,B CE
4.D, A B CE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22833]
2[Option ID=22834]

3[Option ID=22835]
4[Option ID=22836]

Sl. No.84
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Sytematic Literature Review process comprises the following broad steps. Arrange the steps in the logical sequence in which
these are taken.

A. Extract the results of each study and synthesize results

B. Appraise the quality of studies

C. Assess the relevance of each study for research questions

D. Seek out studies relevant to the scope and purpose of the review
E. Define the purpose and scope of the review

Choose the correct answer from the options given below:

1.ECDBA
2EABCD
3.A,B,CDE
4. EDCEBA

1) 1
(2) 2
3) 3
(4) 4




goAaied aiid Y Tifed GHign uishar FHuftiiad ged oedl & GHIEE &dl &: 57 B6H| &l 381U A DI dlidd b H
TR DT

A TS M9 & URUHE" ST U BT 3R UROTHT S St S

B. AT P T[Urdl BT HeHidh Bl

C. 209 Uyl & o Ud® HLTH B YRl &1 FuR0 &=A1

D. GHl& & HIa U4 3537 8 HF- UrEfiEdl &1 gal e
E. GHIET & 520 U4 BU&T B WP P

i f&u U fadhedl 5 U U5l IR &1 999 DI

1.EC DB A
2.EABCD
3.ABCDE
4. EDCEBA

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22837]
2[Option ID=22838]

3[Option ID=22839]
4[Option ID=22840]

Sl. No.85
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Decision making process in an organization involves responding to following questions. Arrange these in logical order in
which these are addressed.

A. What can be done?

B. What should be done?

C. What is intended to be done?

D. What is authorized to be done?

E. What is actually done

Choose the correct answer from the options given below:

1.C,ABED
2B CADE
3.A,B,CDE
4.D,E A B C

1) 1
(2) 2
3) 3
(4) 4




U WA H Hifd i uisar H FRafeiad usl o Ul sifear &A1 9iifad 81 55 39 difh® ®H H ogaied difed, foraH
I R I fem T g

A. 1 T30 S Hhll 87

B. T fop T STHT 9102

C. T ®H & fore 33re fden T 87

D. F1 B & fore wifiigd fdea T/ &2

£ 9d H & favan T B2

i< f&u U fasedl 5 U U5l IR B 999 DI

1.CCABED
2.B,CADE
3.ABCDE
4.D,E A B C

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22841]
2[Option ID=22842]

3[Option ID=22843]
4[Option ID=22844]

Sl. No.86
QBID:93086

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Each season is divided into winter, spring, summer and autumn. This brings changes in temperature, weather
and the length of daylight.

Reason R: The changing seasons are caused by the changing position of the earth in relation to the sun.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

1) 1
(2) 2
3) 3
(4) 4




T B RUU G : U &l HUSHYH (A) 3R g8 DI dd (R) el I g |

HYHYF (A) : TP G199 B Hiddrd, 38d DI, USHIa R IRAHd J fauTierd f6ar <l &1 3949 aiogH, 999 R &1
FI TaTE H URadT 3 Bl

T (R) : 0 & Y&y H gt & Ieaal (Ufd & SR H9H H gedd Al
Iuddd YAl & Hldld | FHifdd [dbedl # 4 el 9 9 -

(A) 3R (R) GHI W1 € 3R (R), (A) BT WE BN B1
. (A) 3R (R) TFT 81 8 TR (R), (A) P e ARAT T&1 &
(A)
(A)

TEl § U (R) Wl Tl €
el 981 8 UG (R) WE1 &

1[Option ID=22845]
2[Option ID=22846]
3[Option ID=22847]
4[Option ID=22848]
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Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A major portion of population of Haryana, Rajsthan and Gujarat is vegetarian.

Reason R: India has been the land of Buddha, Mahavira and Gandhi

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

1) 1
(2) 2
3) 3
(4) 4

TS FFERUTUE: @ @l HUHYA (4) R g8 @I 9o (R) el Tl
HIHYUA (A) : SR, A SR I[ORId BT SIS BT UD 951 6wl BRI 5
Td (R) : YRA g5, HeER 3R et &1 yfF W@ 81

IUddd Byl & HTeis § Fifed Aol § 3 wdl S| I -

1. (A) 3R (R) THFI T8l & 31X (R), (A) P! Yol cARAT & | )

2. (A)Gﬁ?ER)Eﬁ:ﬁHﬁ%UH(R)r (A) B! Te! ST el g

3. (A) W61 © U (R) §&1 el &

4. (A) HE1 921 8 I3 (R) HE1




1[Option ID=22849]
2[Option ID=22850]
3[Option ID=22851]
4[Option ID=22852]

Sl. No.88
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Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A Florida based shipping agent 'Ted Arison' named "Carnival Cruise Lines” to convey the image of cruising.

Reason R: Mr. Arison foresaw unlimited potential in the Miami-Caribbean market with differences from his competitors by
proving premium pricing to attract the first timers.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. Ais false but R is true

(1) 1
(2) 2
3) 3
(4) 4

A BYRUTUE: UF &1 i@ (4) 3R R &1 d& (R) T T2

HUHY (A) : TARST FHawd FuRae WA T8 TRE 3 THE 6 @1 814 B e B3 & g Si-aa o aa-a
=1 fea|

dd (R) - e U = emdi-eRisars SR | riiffd amvra-me &1 gaiqae fbar R ugell aR & SuHiadrst @
Hibitd B o o78 WifgH FaRURo UgH &1 @ R 39+ Wil & 9y SaR 3@ 213 o)

U DYl B e | Fgifed ol § 4 98l SR 9 -

1. (A) 3R (R) T €1 § 3R (R), (A) P1 Wl AT & |
2.(A) 3R R aﬁfﬂﬁ%mﬁ )ﬁﬂﬁﬂ@fﬁ%l
2. (A) HEI B U R}ﬂ%ﬁ‘ﬂiﬂ%l
4. (A) 98I 18T 8 R (R) FRI B
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=22853]
2[Option ID=22854]
3[Option ID=22855]
4[Option ID=22856]

Sl. No.89
QBID:93089




Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Travel+Leisure World's best Awards 2022 has ranked the Oberoi Udaivilas, Udaipur as No-1 Resort in India

Reason R: To conform to the expected standards for different classes of tourists, especially from the point of view of
suitability for international tourists, Ministry of Tourism, Govt. of India, classifies hotels under star rating system and various
categories such as heritage hotels, Resorts etc

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

1) 1
(2) 2
3) 3
4) 4

T FFERUTE: & 3 HUFHYT (A) IR W B 06 (R) el T o
HIHYA (A) : 2AT + ToR dead §¥e SHaTsy 2022 H YR H Aa3-1 RAUIE & &4 H 3HeR1Y Iaiaay @l i® UeH @1 g|

R) : Wgw, faiveR imiPa wes! o Sugadadl &1 epl 4§ i @il & o7 SiUfé AHe! & Ure & ot YR SROR 31
LM:H H:ﬂcw giea & TR YT T SR AR siew, RElE anfe o Rt Al & Fifed st 3

SUdd BYAI & SIS H Hiied [ddcdl H ¥ el S I -

1. (A) 3R (R) THT TE1 & 3R (R), (A) BT TG AT B
2. (A) 31X (R) GHT TET € U (R), (A) P Fel RS el &
3. (A) TEl 8 IR (R) W&l Tol |
4.(A) TR TR W (R) TE1 5
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=22857]
2[Option ID=22858]
3[Option ID=22859]
4[Option ID=22860]

Sl. No.90
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Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The ability of a firm to cooperate with other hotels and service providers has always been a major advantage in
strategies to improve service levels and retention of customers.

Reason R: In the hospitality context, hospitality services are based on fixed points of sale, whereas hotel customers are
mostly travellers.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true




1) 1
(2) 2
(3) 3
(4) 4

T E P RUTE: U@ &l HUHYA () R GO DI 9o (R) el T8l

HIHYA (A) : [T DY BT 2 gled Ud Yal Ueldrsil & 91 Ygdi - & gRgal 9al TR1 H R Ud 9D UdUR0 gg
UFIa! H Wed U WA a4 & U H 361 5

TP (R) : Mg & T &, nfoe arw fFAfaa faws figel w snuifa gt & wife gied & ae® e a6 81d &
U Byl & HTeis § Fifed fAeedl § 3 wel S| I -

1. (A) I (R) THT TR € SR (R), (A) P WET BTG T

2. (A)Gﬁ?ER)Eﬁ:ﬁHﬁ%UH(R)r (A) B! Te! ST el g

3. (A) WE1 € 0Rg (R) §&I el &

4. (A) HEI T2 8 I (R) HE1 B

1[Option ID=22861]
2[Option ID=22862]
3[Option ID=22863]
4[Option ID=22864]

Sl. No.91
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Read the following passage and answer the questions

The world's best-known mousoleum celebrates one of the greatest love stories of all time - that of the seventeenth-century
Mogul emperor, Shah Jahan, and his queen, the “Chosen One of the Palace,” Mumtaz Mahal. As a sixteen-year old prince,
according to legend, the future "King of the World" fell in love with Mumtaz at first sight and defied convention by seeking
her hand in marriage; he waited five years for their wedding. In their nineteen years of married life, the queen gave Shah
Jahan fourteen children. She ruled at his side almost as an equal. Her death in child birth in 1631, the fourth year of the
emperor's reign, left him wild with grief but determined to build history’s finest monument to the love of a man for a woman
- The Taj Mahal.

As descendants of Tamerlane and Genghis Khan, the moguls delighted in bloody combat, savage sports and hideous tortures
of their victims. In the absence of primogeniture, brother fought brother for the throne; it was the law of takht ya takhta -
“"throne or coffine”. Once crowned, the emperors sought unlimited pleasure in women, wine and opium. Less than a century
after Shah Jahan was deposed by his ruthlessly ambitious son, the dynasty was in irreversible decline.

FFrafefE o 1 ud ofiv ust & W diferal

YRl Wdlsdl & e GHIC RMgolel AR 3@! I & U el Hed- GHdN Agd 3y [ 36aR1 39 aHl &1 98H UH
FHEF! B gUiar 81 e & UR U@ Jiae Jua I9HHR & U § WMeviel I, o @y & yidt 3o & w0 & 9F1 T4,
Ul g1 oR H GHdS § WR B T 3R 38 344 f9aTe & U FHicid Uyl S 36w B 39 U el & Y uid 9y ae
Ucli& @i 2411 4 Gl & 39l 94 & daligd siia- H - JHAIS - 9168 o=l ol oA 601l I Ageigl I WY Gd §U TRTH
Ud GHH HATGR & 30 H A fdanl 1631 § 9ad & oFF & GRIH JHdTe & Hid 8l 115, 9id YMgusl & QMG &I 91T ay o1l 39
Hid ¥ 39 718 9 Ugdl AR 3G U Higell & Uid U Yoy & WR I 415 H 3id8M™ &1 Ud HdiapP WR® dieiHgld & (0
&1 e 2 faea

TR SR Sio@H & 4319 & €9 8 Td -] dokdl, 98X Wdl SR 99-9 HAHR B H 36 W $id ¥ WEIUSR $i
HurRyh o RigrH g1t &3 & fau 4TI 3 YIS & U1y eSS dol: 98 7% U1 diedl-" g g1 are &1 a9 o1l figRE &1

Tl UgH- U H7Tel R4 Higasdl, AiGRT SR B &I od H SRiiH 3iHg UId &d U1 Xgeiel @ 39b el Hgaibiah gF 4
Tl U gal e, f59e 916 U@ Yanes! ¥ o &9 99y d 08 Iea Suiiad- U 3 TET|

Emperor Shah Jahan was earlier known as:

1. Khurram
2. Khusrow
3. Salim
4. Murad

(1) 1
(2) 2
(3) 3
(4) 4

THIE ATgole! &l Ud H [ 18 Y SH1 Siral 41?7

1. 9H
2. GWI
3. T

4. {ila

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=22865]




2[Option ID=22866]
3[Option ID=22867]
4[Option ID=22868]
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Read the following passage and answer the questions

The world's best-known mousoleum celebrates one of the greatest love stories of all time - that of the seventeenth-century
Mogul emperor, Shah Jahan, and his queen, the "Chosen One of the Palace,” Mumtaz Mahal. As a sixteen-year old prince,
according to legend, the future "King of the World" fell in love with Mumtaz at first sight and defied convention by seeking
her hand in marriage; he waited five years for their wedding. In their nineteen years of married life, the queen gave Shah
Jahan fourteen children. She ruled at his side almost as an equal. Her death in child birth in 1631, the fourth year of the
emperor's reign, left him wild with grief but determined to build history’s finest monument to the love of a man for a woman
- The Taj Mahal.

As descendants of Tamerlane and Genghis Khan, the moguls delighted in bloody combat, savage sports and hideous tortures
of their victims. In the absence of primogeniture, brother fought brother for the throne; it was the law of takht ya takhta -
“"throne or coffine”. Once crowned, the emperors sought unlimited pleasure in women, wine and opium. Less than a century
after Shah Jahan was deposed by his ruthlessly ambitious son, the dynasty was in irreversible decline.

Frrafofad e &1 e ofiv ust & S+ il

Goedl Wdlsal & e GHIC RMgviel AR 3@1 Il & iU el Hed- GHdN Agd 13y A8 A6aR1 39 aHl &1 98H UH
FHEM! B cUiar 81 A & ER U@ Tide gua I9HHR & ¥U § Aewiel i, ol @y & uidt 3o & w0 & 91 T,
Ugcit g1 ToR H HAdS ¥ WR g 71 3R I8 I9Y faare & fou wafeid uu &t 3w 1) S I WSl & R uie 9 d
citen @1 1 37 GH1 & 39 a¥ & Jalied oiig- H I GHAS - d1GE godi $I oFH [Gd1l 39 WMgolg! &I U1 Gd gU TRIHT
Ut GHH HATGR & 30 H A fdanl 1631 § 9ad & oFF & GRH JHdTel & Hid 8l 1Ts, 9id YMgwsl & QMG &I 9T ay o7l 39
Hid H 34 TTER1 G Ugdl SR I U Afgal & Uid U U4 & WR @1 I15 H 3o &1 Uh Hala@ P HRS draHeld & 10
&1 T ey faan

TR SR I9EH & 93 & T 1 I Gl doRdl, 96 Wdl AR 999 HAER &34 H e U $3d 41 AFMUSR $i
Hueye H RigrA gIild & & oW YT - 413 & 91y dsls dol; 98 a%d I aedl-" g a1 arga &1 a9 o1 figRE &1

dTd Ug- R Hid Sad Higesl, a1 3R i @I ad H 1| 3iHe Uid &2d 4| Aeiel &l 39 Hedl Hedidiah g1 4
Tl U ga e, 59 e 916 U9 Yales) ¥ o &9 999 § 08 Ie6 Suiad- U 3 TaT|

The queen Mumtaz died giving birth to a child in:

1. Agra

2. Burhanpur
3. Lahore

4. Ahmedabad

1) 1
(2) 2
(3) 3
(4) 4

P 3 2 g @i 3 9t o o 33 & O T ST 1 i 81 TS o

1. 3R]

2. TEAR
3. TBR
4. 3gHcldlg

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=22869]
2[Option ID=22870]
3[Option ID=22871]
4[Option ID=22872]
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Read the following passage and answer the questions

The world's best-known mousoleum celebrates one of the greatest love stories of all time - that of the seventeenth-century
Mogul emperor, Shah Jahan, and his queen, the "Chosen One of the Palace,” Mumtaz Mahal. As a sixteen-year old prince,
according to legend, the future "King of the World" fell in love with Mumtaz at first sight and defied convention by seeking
her hand in marriage; he waited five years for their wedding. In their nineteen years of married life, the queen gave Shah
Jahan fourteen children. She ruled at his side almost as an equal. Her death in child birth in 1631, the fourth year of the
emperor's reign, left him wild with grief but determined to build history’s finest monument to the love of a man for a woman
- The Taj Mahal.

As descendants of Tamerlane and Genghis Khan, the moguls delighted in bloody combat, savage sports and hideous tortures
of their victims. In the absence of primogeniture, brother fought brother for the throne; it was the law of takht ya takhta -
“throne or coffine”. Once crowned, the emperors sought unlimited pleasure in women, wine and opium. Less than a century
after Shah Jahan was deposed by his ruthlessly ambitious son, the dynasty was in irreversible decline.

FrafufEa mriw &1 3 ofir usl & = diferal

YAgdl Wdleal & e GHIC RMgoiel 3R 3@ I & iU el Hgd- GHd Hed @Y a8 HdeR 39 aHl @1 98H UH
FHerl @ giidl 81 fhacdl & ¥R & Tiag auid I9HHER & U § Ievel @I, ol 3y & uidl I & w9 § JM1 71,
Ul g1 oR H gHdS § WR B T 3R 38 394 fqaTe & o0 Faieid Uyl Bl 36w B 39 U el & Y uid 9y e
Y& &1 471 3 GHl & Fald 98 & daligd siia- H I JHAS A diGg o= &l o4 [Ga1l I Aeelg) B WY Sd §U TRTHT
Ut YHH HRGR & 30 ¥ A fdanl 1631 § aad & o F & SR JHdTSl & Hid 8l 115, 9id QMgeigl & QMG &I 91T ay o1l 39
Hid ¥ 34 7183 59 Ugdl AR 35 U Higell & Uid U YoY & WR I 415 H 3idgM &1 Ud JdiapP ¥IR® dreiHglc a a0
&1 ¢ (2 faa

TR SR So@H & 4319 & €9 H Td G-l dokdl, 98X Wdl 3R 99-9 HAHR B H 36 W $id ¥ AFIUSR Bi
HurRyeh o RigrA gt &3 & fag WIS 3 4TS & U1y eSS dol: 98 7% 1 del- g 31 arg &1 a9 unl figE &1

TS Ug-- IR i Qs Higensfl, AfeT 3R i &1 ad H o1iiH 3iHe Ui &3d 4| 2AMesiel &l 39 Hedl Hedidbial g 4
Tl U gal e, e 916 U@ Wates! 9 o &9 99 H 08 Ieaw Suiad- U 3 el

Taj Mahal was completed in year:

1. 1632
2.1643
3. 1654
4. 1666

(1)1
(2) 2
(3) 3
(4) 4




s Hgd @1 HHir g av § g1 ga ur

1.1632
2.1643
3. 1654
4. 1666

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=22873]
2[Option ID=22874]

3[Option ID=22875]
4[Option ID=22876]
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Read the following passage and answer the questions

The world's best-known mousoleum celebrates one of the greatest love stories of all time - that of the seventeenth-century
Mogul emperor, Shah Jahan, and his queen, the "Chosen One of the Palace,” Mumtaz Mahal. As a sixteen-year old prince,
according to legend, the future "King of the World" fell in love with Mumtaz at first sight and defied convention by seeking
her hand in marriage; he waited five years for their wedding. In their nineteen years of married life, the queen gave Shah
Jahan fourteen children. She ruled at his side almost as an equal. Her death in child birth in 1631, the fourth year of the
emperor's reign, left him wild with grief but determined to build history’s finest monument to the love of a man for a woman
- The Taj Mahal.

As descendants of Tamerlane and Genghis Khan, the moguls delighted in bloody combat, savage sports and hideous tortures
of their victims. In the absence of primogeniture, brother fought brother for the throne; it was the law of takht ya takhta -
“throne or coffine”. Once crowned, the emperors sought unlimited pleasure in women, wine and opium. Less than a century
after Shah Jahan was deposed by his ruthlessly ambitious son, the dynasty was in irreversible decline.

Frafafad e 1 ug ofiv usl & 3= it

Goedl Wdlsal & e GHIC RMgviel AR 3@1 Il & iU el Hed- GHdN Agd 13y A8 A6aR1 39 aHl &1 98H UH
FHEM! B cUiar 81 A & ER U@ Tiae gu I9HHAR & ¥U § AMewel i, ol @y & yidt 3o & w9 & 9M1 T4,
Ul 81 TR H HHAS U WR Bl T4 3R 364 I {9918 & 10 vEied Uy Bl 36w &) 38 U Idl & A uih 9y a
yciten @1 1 37 GF1 & 39 q¥ & dalied oiig- H I GHATS - d1GE gl $I oA [Gdll I8 WMgoig! &I U1 Gd gU TRIHT
Ut GHH YRR & 30 ¥ A fdanl 1631 § 9ad & oFF & GRIH JHdTe & Hid 8l 1Ts, 9id YMgwel & QMG &I 9T ay o1l 39
Hid ¥ 34 T1ER1 G Ugdl SR I U dfgdl & Uid U J3Y & WR @1 J1G H (e @1 Uh Hal@P HRS draHgld & 10l
&1 T [y faarl

ATREH AR T oEH & a9 & ¥4 § a1 dokdl, 96) Gdl R 9690 MR &3 H HHE T $d 41 IETIER 3
Hueyeh o RigraA gl & & fau Wi = 413 & UM dsls dol; 98 a%d I aedl-" g a1 aiga &1 a9 o1 figRE &1

ATe Ug-- R a2 Higensll, AfeT 3R i @I ad H o1liH 3iHe Uid &2d 4| Aeiel &l 39 Hedl Hedidmigh g1 4
Tl U gal e, e 916 U Yanes! ¥ o &9 999 d 08 Ie6 Suiiad- uad 3 TET)

Popularly known as Mumtaz Mahal, was earlier known as:

1. Arjumand Banu
2. Roshanara

3. Salima

4, Jahanara




1) 1
(2) 2
(3) 3
(4) 4

S Hed ! Ued (g 19 § ST offdl 417

1. A 9T
2. IREART

3. gl
4, SIgI3RT

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22877]
2[Option ID=22878]

3[Option ID=22879]
4[Option ID=22880]

Sl. No.95
QBID:93095

Read the following passage and answer the questions

The world's best-known mousoleum celebrates one of the greatest love stories of all time - that of the seventeenth-century
Mogul emperor, Shah Jahan, and his queen, the "Chosen One of the Palace,” Mumtaz Mahal. As a sixteen-year old prince,
according to legend, the future "King of the World" fell in love with Mumtaz at first sight and defied convention by seeking
her hand in marriage; he waited five years for their wedding. In their nineteen years of married life, the queen gave Shah
Jahan fourteen children. She ruled at his side almost as an equal. Her death in child birth in 1631, the fourth year of the
emperor's reign, left him wild with grief but determined to build history’s finest monument to the love of a man for a woman
- The Taj Mahal.

As descendants of Tamerlane and Genghis Khan, the moguls delighted in bloody combat, savage sports and hideous tortures
of their victims. In the absence of primogeniture, brother fought brother for the throne; it was the law of takht ya takhta -
“throne or coffine”. Once crowned, the emperors sought unlimited pleasure in women, wine and opium. Less than a century
after Shah Jahan was deposed by his ruthlessly ambitious son, the dynasty was in irreversible decline.

frafafEa T $1 1 ofiv ust & W difergl

gl Wdleal & T UHIE WMeoiel AR 3! IHT & U gl Hgd- GHAY ded 9% [d@ad HeeRT 59 GHI & HeH UH
el @ gaifdl 81 fhacdl & SI9R U@ Giag quld I9HHER & U 4 Ievel @I, o8 3y & yidl I & w9 § 901 77,
Ugell 81 ToR H HAdN ¥ WR Bl 1 3R 394 I9Y f4a1e & oY Waieid Wyl @i Saw | 3894 I8d WGl & Y uid a¥ d
THET B Y1 37 G & 39 9 & daled siad § I A A d16e a0 & o f6a1l 3 Teeigl &I 1Y Gd §U TR
U YOH HAeR & 30 H WA a1l 1631 § e & o & SR GHdTS &1 Hid 81 7T, 5d YMgeial & MG &I 91T a8 o411 39
Hid ¥ 34 18 g9 Ugdl 3R 3 U Higell & Uld U Y34 & WR I I1g H 3idgMH &1 U iy SRS dieiHgle d ([0
@1 ¢ (2 faan

R R Do o 98I & U H JI Gl asidl, g6 Wal AR 990 HAMER &3 H HHG Ud BId 41 FRIIGR 1
eyt H RigH g1t &+ & AU YTE A YT & 91y 98Ts a4l 98 a%d a1 adl-“ R a1 a|g &1 o 1 e &
TS Ug-- W I S Higensfl, Afe 3R B 31 ad § o[ e Ui $d 4| Aesiel &I 39 Hedl Aearsbial g4
el 4 gl i, 59 918 U9 Iaresl ¥ 1 &9 994 J 98 T96Y SaRkaa-id U | 38T




The first wife of Shah Jahan was a Persian princess:

1. Quandari Begam
2. Udaipuri Begam

3. Mumtaz Begam

4. Haji Begam

1)
(2)
(3)
(4)

A W N R

TMgegl B Ugdl Udl U WRIE AGHHAR] BT 71 414 UT?

1. HERI 9T
2. SeguE @TH
3. oIS STH
4. gTell 979

1)
(2)
(3)
(4)

A W N R

1[Option ID=22881]
2[Option ID=22882]
3[Option ID=22883]
4[Option ID=22884]
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Read the Paragraph and answer the questions

Corporations with social power have more corporate social responsibilities (CSR) and those organisations that do not meet
their social responsibilities risk losing the power, a principle referred to as the ‘lron Law of Responsibility”. Enron, Arthur
Anderson, Merryl Lynch, World.com and Martha Stewart have fallen due to allegations of social irresponsibility. There are
increased calls upon business to be environmentally and socially responsible, accountable, transparent, inclusive, equitable
and sustainable. There is an increasing demand by society for business to be more responsible and contribute to the
betterment of the society. The phrase social responsibility tends to trigger image of charitable contribution, but it actually
refers to much more. According to Narayan Murthy, social responsibility is to create maximum share holder's value working
under the circuimstances, where it is fair to all its stakeholders, workers, consumers, the community, Government and the
environment. Companies in India have been proactive in taking up CSR initiatives and integrating them in their business
process. After independence, JRD Tata advised that apart from the obvious one of donating funds to good cause, they could
have used their own financial, managerial and human resources to provide task forces for undertaking direct relief and
reconstruction measure. Slowly, it began to be accepted that business lead to share a part of the social overhead cost of the
society. Traditionally, it had discharged its responsibilities to the society through benefictions for education, medical facilties
and scientific research among other objects. The last decade witnessed a swing away from charity and traditional
philanthropy towards more direct arrangement of business in mainstream development and concern for disadvantaged
groups in society. According to 'The 2001 State of Corporate Social Responsibility in India poll’, CSR in India has so far,
followed Ethical Model, Liberal Model, Stakeholder Model and Statist Model.

FrafatEs o 1 ufde vd 39 w snuthia ust &1 3= i

g2 YEIfe Wi ard El & ue e ®uie gHive Soialita (@ U9 3R) 8d & Ud 4 964 W 3 gEife
FTREUE & T8l [ B UId & 39! 34 Tdel! &I GH &1 Xl a1d1 8, UH1 U faid ol ‘STRalitd & e -a9 43930
Tafid g1 TR, omi Ty, 7id g, 3@ &9 Ud A1yi ¥are 9iod 1R-3TRalid & AR & SRU 59 TR 1 9T
SU S| 09U &3 W 34 T & ¢a1d & $1 d Taid0ig &0 9 UTd YMifed U U fSieR, Sddce, RGN, a9, Afds ¥4
Y g ud HuRoiig gf| 9HS §RT a9l W 3196 961 g cald 34 §1d @1 ¢ §d d 3fi¥d el §4 3R THe & diy &
oY i@ TFIGH &< TEIe® STRaldd e GH o arg diGH @I §id @ URd @3- gd Yad ®dl ¢ did- 9g aRad H
U B9 U@ E 81 AR Hid & AIER, YHIvie JRaldd TR & d8d & &Xd gu HUHad SMYRS-Hg &1
Yo B3 B BI1 & O] U8 39 il SNUR®, 4!, IuHiadisl, $9aH, SeR U4 UEiaR & U Suged Bl 8] HRd H
HUFTl O T0 3R Ued @1 @ 8, R 34 301 oG9 Wihdl § U dd a4 H aaied el & | WaAdl 94, of AR &
TTeT A Yaie a1 & {ddl & gRI 6wl o &1 gd 9H & GF o U 3eiT, d 31 fawiiy, U@, 3R HHd Y] &1 SugiT
PRI aﬁmgﬁﬂawﬁﬁmmﬁaﬂlmwﬁqmmw dﬂd%%ﬂﬂﬂﬁﬂﬁﬂﬂﬁ%l?ﬂﬂﬂ%uﬁﬁﬁr{ﬁﬁmm
URYH Bl T & a9 &I GHIS & S AUy drd & ©U H U6 B8 @I 9IS &A1 8RN WA ©9 ¥ 34
HU- IReEl ®f o9 Igral # U gH &I Rian, fafdhar giaus R 39 2y & &= H a4 UgdH & 71| d Faed
T3 o] i 52 IRE (GF) T4 IRUIRG &0 ¥ TieuaR] 1 (909 &R ¥ g 9H, TEIURI a f[aer @ 9ae § dfad
Tel & WERI ¥ TaUd & AND Tde Jaaal U g2 o &1 W&l &1 G 2001, ¥ A6 HMe J9a Reifafefed 33
STSU1 Ul & 3FER S5l ad YR H Ul 0 3R Afde AiSd, 3GR HISd, YRS Hisd Ud R Higd $I FHH faar g |

Who is credited with the origin of the principle ‘Iron Law of Responsibility’

1. Keith Davis

2. Mark Starik

3. Ralph Nader

4. Milton Friedman

(1)1
(2) 2
(3) 3
(4) 4




Feitd & arg Faw g fgla & Suft &1 99 &8 S g2

1. %Y Sfag
2. 9% wWIiR®
3. IF TSR

4. A wEsiA

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22885]
2[Option ID=22886]

3[Option ID=22887]
4[Option ID=22888]
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Read the Paragraph and answer the questions

Corporations with social power have more corporate social responsibilities (CSR) and those organisations that do not meet
their social responsibilities risk losing the power, a principle referred to as the ‘lron Law of Responsibility”. Enron, Arthur
Anderson, Merryl Lynch, World.com and Martha Stewart have fallen due to allegations of social irresponsibility. There are
increased calls upon business to be environmentally and socially responsible, accountable, transparent, inclusive, equitable
and sustainable. There is an increasing demand by society for business to be more responsible and contribute to the
betterment of the society. The phrase social responsibility tends to trigger image of charitable contribution, but it actually
refers to much more. According to Narayan Murthy, social responsibility is to create maximum share holder's value working
under the circuimstances, where it is fair to all its stakeholders, workers, consumers, the community, Government and the
environment. Companies in India have been proactive in taking up CSR initiatives and integrating them in their business
process. After independence, JRD Tata advised that apart from the obvious one of donating funds to good cause, they could
have used their own financial, managerial and human resources to provide task forces for undertaking direct relief and
reconstruction measure. Slowly, it began to be accepted that business lead to share a part of the social overhead cost of the
society. Traditionally, it had discharged its responsibilities to the society through benefictions for education, medical facilties
and scientific research among other objects. The last decade witnessed a swing away from charity and traditional
philanthropy towards more direct arrangement of business in mainstream development and concern for disadvantaged
groups in society. According to 'The 2001 State of Corporate Social Responsibility in India poll’, CSR in India has so far,
followed Ethical Model, Liberal Model, Stakeholder Model and Statist Model.

FrafatEe o 1 ol vd 39 w snuthia ust &1 3= difsm

g2 YEIfe Wi ard El & ue e ®uie gHive Soialita (@ U9 3R) 8d & Ud 4 964 W 3 gEife
FTREUE & T8l [ B UId & 39! 34 Tdel! &I GH &1 Xl a1d1 8, UH1 U faid ol ‘STRalitd & e -a9 43930
Tafid g1 TR, omi Ty, 7id g, 3@ &9 Ud A1yi ¥are 9iod 1R-3TRalid & AR & SRU 59 TR 1 9T
SU S| 09U &F W 34 T &1 ¢ald & $1 d U0y 4 ¥ Ud UMifsie U U fSreR, Sddce, R, G, Afdes ¥4
Y g ud HuRoiig gf| 9HS §RT a9l W 3196 961 g cald 34 §1d @1 ¢ §d d 3fi¥d el §4 3R THe & diy &
oY ¥ TFIGH &< TMIe® STRaldd e GH o arg drGH @I §id @ URd @3- gd Yad ®dl ¢ did- 9g aRad 3
S B9 U@ B 81 AREA Hid & AIER, YHIee JtRalda TR & ded & &Xd gu HUddd SMYRS-Hg &1
Yo B3 B BI1 & O] U8 39 il SNUR®, 4!, IuHiadisl, $9aH, SeR U4 UEiaR & U Suged Bl 8] HRd H
HUFTl O T0 3R Ued @1 @ 8, R 34 301 oG9 Wihdl § U dd a4 H aaied el & | WaAdl 94, of AR &
TTeT A Yaie a1 & {ddl & gRI 6wl o &1 gd 9H & GF o U 3eiT, d 31 fawiiy, U@, 3R HHd Y] &1 SugiT
PRI aﬁmgﬁﬂawﬁﬁmmﬁaﬂlmwﬁqmmw dﬂd%%ﬂﬂﬂﬁﬂﬁﬂﬂﬁ%l?ﬂﬂﬂ%uﬁﬁﬁr{ﬁﬁmm
URYH Bl T & a9 &I GHIS & S AUy drd & ©U H U6 B8 @I 9IS &A1 8RN WA ©9 ¥ 34
HU FReIEl & o9 Igal # U 9o &I Rian, fafdan giaus R 39 2y & &= H a4 UgdH & J1e| d Fagd
T3 o] i 52 IRE (GF) T4 IRUIRG &0 ¥ TieuaR] 1 (909 &R ¥ g 9H, TEIURI a f[aer @ 9ae § dfad
Tel & WERI ¥ Taud & NS Tde Jaddl ¥ g2 o @1 Wl &1 G 2001, ¥ A6 die Jwa Reifafefd 53
STSU1 Ul & 3FER S5l ad YR H Ul 0 3R Afde AiSd, 36R HISd, YRS Hisd Ud R Higd $I FHH faar g |

Which of the following is NOT Correctly matched?

1. Energy provider : Enron

2. Stock market broker : Merrill Lynch

3. Railway construction : Martha Stewart
4. Accounting firm : Arthur Anderson

1) 1
2) 2
(3) 3
4) 4




Fofafed § O -1 &1 3 gEfia el &
1. fawict UGrar - TR
2. Wid Alwe didy - 3Ra g
3. ¥o7d fafamfor - At ward
4, OGBSO - 3R TST9

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22889]
2[Option ID=22890]

3[Option ID=22891]
4[Option ID=22892]
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Read the Paragraph and answer the questions

Corporations with social power have more corporate social responsibilities (CSR) and those organisations that do not meet
their social responsibilities risk losing the power, a principle referred to as the ‘lron Law of Responsibility’. Enron, Arthur
Anderson, Merryl Lynch, World.com and Martha Stewart have fallen due to allegations of social irresponsibility. There are
increased calls upon business to be environmentally and socially responsible, accountable, transparent, inclusive, equitable
and sustainable. There is an increasing demand by society for business to be more responsible and contribute to the
betterment of the society. The phrase social responsibility tends to trigger image of charitable contribution, but it actually
refers to much more. According to Narayan Murthy, social responsibility is to create maximum share holder's value working
under the circuimstances, where it is fair to all its stakeholders, workers, consumers, the community, Government and the
environment. Companies in India have been proactive in taking up CSR initiatives and integrating them in their business
process. After independence, JRD Tata advised that apart from the obvious one of donating funds to good cause, they could
have used their own financial, managerial and human resources to provide task forces for undertaking direct relief and
reconstruction measure. Slowly, it began to be accepted that business lead to share a part of the social overhead cost of the
society. Traditionally, it had discharged its responsibilities to the society through benefictions for education, medical facilties
and scientific research among other objects. The last decade witnessed a swing away from charity and traditional
philanthropy towards more direct arrangement of business in mainstream development and concern for disadvantaged
groups in society. According to 'The 2001 State of Corporate Social Responsibility in India poll’, CSR in India has so far,
followed Ethical Model, Liberal Model, Stakeholder Model and Statist Model.

FrafatEs o 1 ufde vd 39 w snuthia ust &1 3= i

g2 YEIfe Wi ard El & ue e ®uie gHive Soialita (@ U9 3R) 8d & Ud 4 964 W 3 gEife
FTREUE & T8l [ B UId & 39! 34 Tdel! &I GH &1 Xl a1d1 8, UH1 U faid ol ‘STRalitd & e -a9 43930
Tafid g1 TR, omi Ty, 7id g, 3@ &9 Ud A1yi ¥are 9iod 1R-3TRalid & AR & SRU 59 TR 1 9T
SU S| 09U &3 W 34 T & ¢a1d & $1 d Taid0ig &0 9 UTd YMifed U U fSieR, Sddce, RGN, a9, Afds ¥4
Y g ud HuRoiig gf| 9HS §RT a9l W 3196 961 g cald 34 §1d @1 ¢ §d d 3fi¥d el §4 3R THe & diy &
oY i@ TFIGH &< TEIe® STRaldd e GH o arg diGH @I §id @ URd @3- gd Yad ®dl ¢ did- 9g aRad H
U B9 U@ E 81 AR Hid & AIER, YHIvie JRaldd TR & d8d & &Xd gu HUHad SMYRS-Hg &1
Yo B3 B BI1 & O] U8 39 il SNUR®, 4!, IuHiadisl, $9aH, SeR U4 UEiaR & U Suged Bl 8] HRd H
HUFTl O T0 3R Ued @1 @ 8, R 34 301 oG9 Wihdl § U dd a4 H aaied el & | WaAdl 94, of AR &
TTeT A Yaie a1 & {ddl & gRI 6wl o &1 gd 9H & GF o U 3eiT, d 31 fawiiy, U@, 3R HHd Y] &1 SugiT
PRI aﬁmgﬁﬂawﬁﬁmmﬁaﬂlmwﬁqmmw dﬂd%%ﬂﬂﬂﬁﬂﬁﬂﬂﬁ%l?ﬂﬂﬂ%uﬁﬁﬁr{ﬁﬁmm
URYH Bl T & a9 &I GHIS & S AUy drd & ©U H U6 B8 @I 9IS &A1 8RN WA ©9 ¥ 34
HU- IReEl ®f o9 Igral # U gH &I Rian, fafdhar giaus R 39 2y & &= H a4 UgdH & 71| d Faed
T3 o] i 52 IRE (GF) T4 IRUIRG &0 ¥ TieuaR] 1 (909 &R ¥ g 9H, TEIURI a f[aer @ 9ae § dfad
Tel & WERI ¥ TaUd & AND Tde Jaaal U g2 o &1 W&l &1 G 2001, ¥ A6 HMe J9a Reifafefed 33
STSU1 Ul & 3FER S5l ad YR H Ul 0 3R Afde AiSd, 3GR HISd, YRS Hisd Ud R Higd $I FHH faar g |

Following are termed as socially responsible business practices, except:

1. Philanthrophic donation to charity
2. Service to the community

3. Enhancing firms' R and D base

4. Promoting religious conduct

(1)1
(2) 2
(3) 3
(4) 4




340 SffoRad, FEfdRad & gafoe ©4 U 3weil oIaa™ o ©4 H Sififgd fadr 9rd 87

1. IR gq diB BRI gH

2. §He™ g 9ar

3. %G & R TG D o0 F YasA
4. UTH® OdER 5d S9d B

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=22893]
2[Option ID=22894]

3[Option ID=22895]
4[Option ID=22896]
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Read the Paragraph and answer the questions

Corporations with social power have more corporate social responsibilities (CSR) and those organisations that do not meet
their social responsibilities risk losing the power, a principle referred to as the ‘lron Law of Responsibility’. Enron, Arthur
Anderson, Merryl Lynch, World.com and Martha Stewart have fallen due to allegations of social irresponsibility. There are
increased calls upon business to be environmentally and socially responsible, accountable, transparent, inclusive, equitable
and sustainable. There is an increasing demand by society for business to be more responsible and contribute to the
betterment of the society. The phrase social responsibility tends to trigger image of charitable contribution, but it actually
refers to much more. According to Narayan Murthy, social responsibility is to create maximum share holder's value working
under the circuimstances, where it is fair to all its stakeholders, workers, consumers, the community, Government and the
environment. Companies in India have been proactive in taking up CSR initiatives and integrating them in their business
process. After independence, JRD Tata advised that apart from the obvious one of donating funds to good cause, they could
have used their own financial, managerial and human resources to provide task forces for undertaking direct relief and
reconstruction measure. Slowly, it began to be accepted that business lead to share a part of the social overhead cost of the
society. Traditionally, it had discharged its responsibilities to the society through benefictions for education, medical facilties
and scientific research among other objects. The last decade witnessed a swing away from charity and traditional
philanthropy towards more direct arrangement of business in mainstream development and concern for disadvantaged
groups in society. According to 'The 2001 State of Corporate Social Responsibility in India poll’, CSR in India has so far,
followed Ethical Model, Liberal Model, Stakeholder Model and Statist Model.

FrafatEs o 1 ufde vd 39 w snuthia ust &1 3= i

g2 YEIfe Wi ard El & ue e ®uie gHive Soialita (@ U9 3R) 8d & Ud 4 964 W 3 gEife
FTREUE & T8l [ B UId & 39! 34 Tdel! &I GH &1 Xl a1d1 8, UH1 U faid ol ‘STRalitd & e -a9 43930
Tafid g1 TR, omi Ty, 7id g, 3@ &9 Ud A1yi ¥are 9iod 1R-3TRalid & AR & SRU 59 TR 1 9T
SU S| 09U &3 W 34 T & ¢a1d & $1 d Taid0ig &0 9 UTd YMifed U U fSieR, Sddce, RGN, a9, Afds ¥4
Y g ud HuRoiig gf| 9HS §RT a9l W 3196 961 g cald 34 §1d @1 ¢ §d d 3fi¥d el §4 3R THe & diy &
oY i@ TFIGH &< TEIe® STRaldd e GH o arg diGH @I §id @ URd @3- gd Yad ®dl ¢ did- 9g aRad H
U B9 U@ E 81 AR Hid & AIER, YHIvie JRaldd TR & d8d & &Xd gu HUHad SMYRS-Hg &1
Yo B3 B BI1 & O] U8 39 il SNUR®, 4!, IuHiadisl, $9aH, SeR U4 UEiaR & U Suged Bl 8] HRd H
HUFTl O T0 3R Ued @1 @ 8, R 34 301 oG9 Wihdl § U dd a4 H aaied el & | WaAdl 94, of AR &
TTeT A Yaie a1 & {ddl & gRI 6wl o &1 gd 9H & GF o U 3eiT, d 31 fawiiy, U@, 3R HHd Y] &1 SugiT
PRI aﬁmgﬁﬂawﬁﬁmmﬁaﬂlmwﬁqmmw dﬂd%%ﬂﬂﬂﬁﬂﬁﬂﬂﬁ%l?ﬂﬂﬂ%uﬁﬁﬁr{ﬁﬁmm
URYH Bl T & a9 &I GHIS & S AUy drd & ©U H U6 B8 @I 9IS &A1 8RN WA ©9 ¥ 34
HU- IReEl ®f o9 Igral # U gH &I Rian, fafdhar giaus R 39 2y & &= H a4 UgdH & 71| d Faed
T3 o] i 52 IRE (GF) T4 IRUIRG &0 ¥ TieuaR] 1 (909 &R ¥ g 9H, TEIURI a f[aer @ 9ae § dfad
Tel & WERI ¥ TaUd & AND Tde Jaaal U g2 o &1 W&l &1 G 2001, ¥ A6 HMe J9a Reifafefed 33
STSU1 Ul & 3FER S5l ad YR H Ul 0 3R Afde AiSd, 3GR HISd, YRS Hisd Ud R Higd $I FHH faar g |

Social responsibility refers to the extent to which a company channels its resources towards the following, except:

1. Improving worth of its stockholders

2. Honesty in its advertisements

3. Quality of the parts it builds into its products
4. Ethics in dealings with its employees

(1) 1
(2) 2
(3) 3
(4) 4




qHIfo® Jaaiiid 9 M4 U8 & [ MEfaRad [ddd HATaad du-l 30+ Ga1eHl 1 39 fad SUGRT Bl o7

1. 39d AWYRD! & o4 H GuR

2. 39% YR H 3HMGR

3. 39 Idma! 1 90 gR1 [ g 9 e &1 qora
4. 395 HHANA! 9 B gdgR | Afa@ar

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22897]
2[Option ID=22898]

3[Option ID=22899]
4[Option ID=22900]

Sl. No.100
QBID:930100




Read the Paragraph and answer the questions

Corporations with social power have more corporate social responsibilities (CSR) and those organisations that do not meet
their social responsibilities risk losing the power, a principle referred to as the ‘lron Law of Responsibility’. Enron, Arthur
Anderson, Merryl Lynch, World.com and Martha Stewart have fallen due to allegations of social irresponsibility. There are
increased calls upon business to be environmentally and socially responsible, accountable, transparent, inclusive, equitable
and sustainable. There is an increasing demand by society for business to be more responsible and contribute to the
betterment of the society. The phrase social responsibility tends to trigger image of charitable contribution, but it actually
refers to much more. According to Narayan Murthy, social responsibility is to create maximum share holder's value working
under the circuimstances, where it is fair to all its stakeholders, workers, consumers, the community, Government and the
environment. Companies in India have been proactive in taking up CSR initiatives and integrating them in their business
process. After independence, JRD Tata advised that apart from the obvious one of donating funds to good cause, they could
have used their own financial, managerial and human resources to provide task forces for undertaking direct relief and
reconstruction measure. Slowly, it began to be accepted that business lead to share a part of the social overhead cost of the
society. Traditionally, it had discharged its responsibilities to the society through benefictions for education, medical facilties
and scientific research among other objects. The last decade witnessed a swing away from charity and traditional
philanthropy towards more direct arrangement of business in mainstream development and concern for disadvantaged
groups in society. According to 'The 2001 State of Corporate Social Responsibility in India poll’, CSR in India has so far,
followed Ethical Model, Liberal Model, Stakeholder Model and Statist Model.

FrafatEs o 1 ufde vd 39 w snuthia ust &1 3= i

g2 YEIfe Wi ard El & ue e ®uie gHive Soialita (@ U9 3R) 8d & Ud 4 964 W 3 gEife
FTREUE & T8l [ B UId & 39! 34 Tdel! &I GH &1 Xl a1d1 8, UH1 U faid ol ‘STRalitd & e -a9 43930
Tafid g1 TR, omi Ty, 7id g, 3@ &9 Ud A1yi ¥are 9iod 1R-3TRalid & AR & SRU 59 TR 1 9T
SU S| 09U &3 W 34 T & ¢a1d & $1 d Taid0ig &0 9 UTd YMifed U U fSieR, Sddce, RGN, a9, Afds ¥4
Y g ud HuRoiig gf| 9HS §RT a9l W 3196 961 g cald 34 §1d @1 ¢ §d d 3fi¥d el §4 3R THe & diy &
oY i@ TFIGH &< TEIe® STRaldd e GH o arg diGH @I §id @ URd @3- gd Yad ®dl ¢ did- 9g aRad H
U B9 U@ E 81 AR Hid & AIER, YHIvie JRaldd TR & d8d & &Xd gu HUHad SMYRS-Hg &1
Yo B3 B BI1 & O] U8 39 il SNUR®, 4!, IuHiadisl, $9aH, SeR U4 UEiaR & U Suged Bl 8] HRd H
HUFTl O T0 3R Ued @1 @ 8, R 34 301 oG9 Wihdl § U dd a4 H aaied el & | WaAdl 94, of AR &
TTeT A Yaie a1 & {ddl & gRI 6wl o &1 gd 9H & GF o U 3eiT, d 31 fawiiy, U@, 3R HHd Y] &1 SugiT
PRI aﬁmgﬁﬂawﬁﬁmmﬁaﬂlmwﬁqmmw dﬂd%%ﬂﬂﬂﬁﬂﬁﬂﬂﬁ%l?ﬂﬂﬂ%uﬁﬁﬁr{ﬁﬁmm
URYH Bl T & a9 &I GHIS & S AUy drd & ©U H U6 B8 @I 9IS &A1 8RN WA ©9 ¥ 34
HU- IReEl ®f o9 Igral # U gH &I Rian, fafdhar giaus R 39 2y & &= H a4 UgdH & 71| d Faed
T3 o] i 52 IRE (GF) T4 IRUIRG &0 ¥ TieuaR] 1 (909 &R ¥ g 9H, TEIURI a f[aer @ 9ae § dfad
Tel & WERI ¥ TaUd & AND Tde Jaaal U g2 o &1 W&l &1 G 2001, ¥ A6 HMe J9a Reifafefed 33
STSU1 Ul & 3FER S5l ad YR H Ul 0 3R Afde AiSd, 3GR HISd, YRS Hisd Ud R Higd $I FHH faar g |




CSR has followed a chronological evolution of four thinking approaches. Arrange them in a chronological order (from the
earliest to the latest)

A. Ethical Model

B. Statist Model

C. Liberal Model

D. Stakeholder Model

Choose the correct answer from the options given below:

1.ACDB
2.C,D AB
3.ABCD
4.B,C.D A

(1) 1
(2) 2
(3) 3
(4) 4

U 0g R A R Rid" SUFH @ SIAHHEER 71 U fdaTy & HFHA (6041 8] 3% SIaeHaR B H H (HRY Y 36dd & $H)
AR DI

A Afi® Aisd

B. &l Higd

C. 9eR Hisd

D. WYRS AlSd

=< feu 7Tu fadedl H 9 Wl IR & 904 BIoig:

1.ACD B
2.CDAB
3.ABCD
4B, C DA

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22541]
2[Option ID=22542]

3[Option ID=22543]
4[Option ID=22544]

Sl. No.101
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Number of female participants from Country D is
% of the number of male participants from
Country A,

1.21
2.24
3.28
4. 31

(1) 1
(2) 2
(3) 3
(4) 4




&= D Y Afgar ufa il &1 Tem G2 A T goy uiauiiEl & Te sl __ % ¢l

1.21
2. 24
3.28
4. 31

1)
(2)
(3)
(4)

A W N =

1[Option ID=22901]
2[Option ID=22902]
3[Option ID=22903]
4[Option ID=22904]

Sl. No.102
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Total number of male participants from Country B

and F together is % of the number of
participants in the games.

1.25
2.30
3.40
4. 45

(1) 1
(2) 2
(3) 3
(4) 4




B 3R F GHI o= U O3y UMl & oo we 1w H uiauiiE! @ e &1 __ % g

1.25
2.30
3.40
4.45

1)
(2)
(3)
(4)

A W N =

1[Option ID=22905]
2[Option ID=22906]
3[Option ID=22907]
4[Option ID=22908]

Sl. No.103
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Number of male participants from Country E is
% more than the number of female
participants from Country C.

1.18
2. 21
3.24
4.25

(1) 1
(2) 2
(3) 3
(4) 4




¥ E © Yoy UiaHIRTgl &l 91 421 ¢ € Al uiaHial &1 4= ¥ __ % 3 B

1.18
2.21
3. 24
4. 25

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22909]
2[Option ID=22910]
3[Option ID=22911]
4[Option ID=22912]
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

What is the ratio of the number of participants
from Country D to the number of female
participants from Country E?

1.11:2
2.11:5
3.13:4
4.7:3

(1) 1
(2) 2
(3) 3
(4) 4




&= D & Uit &1 9= R SR £ © Afgar ufquiiiat ot e @ ST 87

1.11:2
2,115
3.13:4
4. 7:3

1)
(2)
(3)
(4)

A W N R

1[Option ID=22913]
2[Option ID=22914]
3[Option ID=22915]
4[Option ID=22916]

Sl. No.105
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

If 10 additional female participants from Country C
joined the games, then the total number of female
participants from Country Cis _____ % of the total
number of participants from Country C.

1.30
2.40
3.50
4. 60

1) 1
(2) 2
3) 3
(4) 4




afe T ¢ ¥ 10 ifafaa afgen ufquifar = 7w & um femn, 9 83 ¢ @ afgen wfewfigl @& ga
=T G2 C & UiqHIFET & o G- @l __ % g8l

1.30
2.40
3.50
4. 60

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22917]
2[Option ID=22918]

3[Option ID=22919]
4[Option ID=22920]

Sl. No.106
QBID:12201006

After twenty five years of graduation, from a large
group of strangers, a student is able to correctly
identify photographs of students with whom she
attended and completed her high school. This type
of learning belongs to the category of

1. Recall

2. Recognition

3. Common Sense
4. Eidetic imagery

(1) 1
) 2
3) 3
(4) 4

HORFIA! & U 95 WE & a1 [Iad [RI&T I B & 25 981 976, U e faemf agg &
BICHIh! H U 515 T H Ty H g 3R R gl & arct faenfial & die UeR 3 ugaH o
T e g | SHIRTH & 98 UPR oy ¥ 4 dafdd g2

1. T ¥R
2. Uiy
3. OHFY TdeH

4. Twed

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22921]
2[Option ID=22922]

3[Option ID=22923]
4[Option ID=22924]

Sl. No.107
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Which of the following instructional effect does not
come under Role-Playing Model?

1. Strategies of solving interpersonal problems.
2. Comfort in expressing opinions.

3. Facts about social problems and values.

4. Competence in social dialogue.

1)
(2)
(3)
(4)

A W N =

FufaiRad canE® uymEl § O &F YHe Fde- Alsd & Sidtid g 31l 82
1. Jadgfadd GOE GHIYE S 0l
2. TaaR @t siftreafad & ggwal

3. I GRSl AR Hedl & a) H aW
4. QI HaTg | gardl

1)
(2)
(3)
(4)

A W N R

1[Option ID=22925]
2[Option ID=22926]
3[Option ID=22927]
4[Option ID=22928]

Sl. No.108
QBID:12201008

Qut of the following, which technology integrated
model is more useful for researchers to use:

1. TPACK
2. SAMR
3. RAT

4. PICRAT

1)
(2)
(3)
(4)

A W N =

fFrafiaa Teife! teind Alsal & B Ausdisi  Tar 3 1Y e Suant &7

1. 3T & (TPACK)

2. TH U TH 3R (SAMR)

3. AR T (RAT)

4.1 313 Tt 3R TS (PICRAT)

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22929]
2[Option ID=22930]




3[Option ID=22931]
4[Option ID=22932]

Sl. No.109
QBID:12201009

Match List | with List 11

List | List Il
(Classroom
Management) (Meaning)

A, Authoritative
Classroom
Management

I. A Management style that
allows students considerable
autonomy but provides them
with little support for
developing learning skills.

B. Authoritarian
Classroom
Management

Il. A Management style that
encourages students to be
independent thinkers but still
provides effective menitoring.

C. Permissive
Classroom
Management

ll. A Management style in
which teachers show students
that they are aware of what is
happening.

D. Withitness

IV. A Management style that
is restrictive and punitive, with
the focus mainly on keeping
order in the classroom rather

than learning.

Choose the zorrect answer from the options given

below.

TA-IW,B-ILC-1I,D-I
2ZA-1LB-1,C-1V,D-I
A-ILE-IV,C-1,D-1I
4A-NLB-IV,C-1,D-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed st

il -1 (BT

e T -1 (3R 3E)

1. TEEE P a8 el ol f[qenfial @i fHe w|mad qaH
B e

e HTEHYA Bl B

; — II. UEed! g e ol faenfial & Wdd fda® sH &

e AU WicaIfed ddl & W 3@ Hi WHEaHRI AR Sl
2l

C. AP |l UsH B g8 Jcil foraH R faenidal «f ug
DI Uge  [UolRid@dg @ d O gl W veai R IHd g |

S Iv. TEe B g8 9a off ufdd ok <81d® § 9
- e SHTEFT B 3Uféa Ham o Ia=IT 91 T@dl ¢

i< TR MU el H 9 9E IR g

TA-IV,B-1l,C-1ll, D-1
2ZA-NLB-1,C-1V, D-1
A-ILB-IV,C-1, D=1l
4 A-LBE-IV,C-I, D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22933]
2[Option ID=22934]

3[Option ID=22935]
4[Option ID=22936]

Sl. No.110
QBID:12201010

SWAYAM is a program initiated by Govt. of India
and designed to achieve the three
cardinal principles of education:

A. Access
B. Equality
C. Equity
D. Quantity
E. Quality

Choose the correct answer from the options given
below:

1.B, D and E only
2. A, Cand E only
3.B, Cand E only
4. A, B and D only

(1) 1
) 2
3) 3
(4) 4




T (SWAYAM) HRd TSR gRI AR a1 T Sriepd ¢ forads! Af¥ded T et & o Javyd
fren fafd ol T s & U BT 7 -

A, STH
B. THMAT
C. gHal

D. HHEAT

E. TUTad

i feu e fasdheal 5 U U8l IR 94 -
1.®ad B, D AR E
2. HaAA, CHRE

3. HaqAB, C ARE
4. HddA B AR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22937]
2[Option ID=22938]

3[Option ID=22939]
4[Option ID=22940]

Sl. No.111
QBID:12201011

While writing reports/manuscripts, researchers
sometime use the abbreviation 'fn’ which implies:

1. figure number

2. following number(s)
3. final note

4. footnote

(1) 1
(2) 2
3) 3
(4) 4

T Dl TNl Wiade-/ Uighiy feRad Trg &TER n' (Th TH) BT TR ST & o 39D
Hﬁlﬂ'ﬂlﬁ

1. §&1-3®
2. 3adl 9=
3. 3ffm fewuft
4. UTg feoguoft

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22941]
2[Option ID=22942]
3[Option ID=22943]

4[Option ID=22944]
|




Sl. No.112
QBID:12201012

Given below are two statements:

Statement |: Parametric tests cannot be applied to
ordinal or nominal scale data.

Statement II: Parametric tests do not suppose any
particular distribution and the consequential
assumptions.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

(1) 1
) 2
3) 3
4) 4

EIEIAEAIE AT
T - | : WHafeT® GH&0 HHYES a1 AIHeS UAH & SAids! H SI0gad Tel g o 9@ gl
DY - 11 : Udicich G160 fardli fafIy faavor iR Sdcil GaigHH &1 U Tg1 &d ¢ |
U Byl & el H FafaRad fawel 5 9 98 Io g ;

1. @Y | 3R 11 §FT 9ET E

2. %Y 1 AR 11 G e g

3. @Y | Tel &, forq @Y 11 TTAd 8

4. U T ¢, g B I T B

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=22945]
2[Option ID=22946]

3[Option ID=22947]
4[Option ID=22948]

Sl. No.113
QBID:12201013

One of the main advantages of online survey based
research is

1. lessened ethical requirements.

2. a reduced need to provide debriefing and
clarification to participants after completion
of survey.

3. participants can discontinue if they feel
uncomfortable at any stage of survey.

4. a better understanding by participants of
informed-consent issues.




1) 1
(2) 2
(3) 3
(4) 4

HITeTS JA&T0T 21 e & e gardi ¥ 3 U6 &

1. ®H A SHUETY

2. Gd&vT & Q1 g & &16 WAl bl Ya-1 3R TEIDHRU UGH &3 &I Saxgddl H bl
3. 3FR Y&l o fardl TRUI OR WIAHF SUEs He g™ ®d & dl d Hdal ¥ 3ad sl 9d ol
4. Sgfad-Hipid & Hal @1 WaHIRE gRI S5 999

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22949]
2[Option ID=22950]

3[Option ID=22951]
4[Option ID=22952]

Sl. No.114
QBID:12201014

The requirement in research that specifies that
researchers must notify participants about the
nature of participation research and any risks
involved, is known as

1. Anonymity

2. Confidentiality

3. Informed Consent
4. Coercion

1) 1
() 2
(3) 3
(4) 4

MY S H MY Y Geferd Wauirgl & Ufauiiar & 90, Uhid, Ty 991 396 SRgd ¥ 3Erd
DRI B SHUEH gl & o Pl Al e:

1. SFHA
2. O
3. Ogfud Wil
4. 90 WG

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22953]
2[Option ID=22954]

3[Option ID=22955]
4[Option ID=22956]

Sl. No.115
QBID:12201015




Given below are two statements:

Statement |: In web based survey research, it is an
advantage that the investigator does not have to
be present when a participant is interested in
engaging in the task.

Statement II: In web based survey research, it is

a disadvantage that the investigator is not present
to provide clarify/remove doubts when

the participant is interested in engaging in the task.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4., Statement | is incorrect but Statement Il is
correct.

(1) 1
) 2
3) 3
(4) 4

TY - | : OF TR Fa&0T e H 3-3uD B U Ty T8 & old BIg U 56 A H e
B € O 3T B 39 GHY SURYd T8l 81 USdl 21

DY - 1| : dF 11T JA&T ITe H YD Bl Ig HATH & B Y& S H YEferd 8- & 33®
yfauiiTal &f Wydly Y6 THYH & fau soue Jufyd el gldr gl

SWad HYA[ & HIcie | FfRad f[adbedl § 4 98l I g -
1. ®YF | AR 11 TF 98l el
2. Y| IR I GHT AT &

3. @Y | Hel g, fareg YA 11 TTad g
4. Tad T, g I I TE B

1)
(2)
(3)
(4)

A W N R

1[Option ID=22957]
2[Option ID=22958]
3[Option ID=22959]
4[Option ID=22960]

Sl. No.116
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Communication is a dynamic process across

. The meta universe
. Inanimate phenomena
. Varied situations

W =

. Specific populations only

(1) 1
(2) 2
3) 3
(4) 4

o FgfEiag & O feras ue nfaeiia ufear s -

. TR-sidd afvgestt gAae Bamm o
fafay ufefufout &
4. g Ay SgwEmel o

2
3

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22961]
2[Option ID=22962]

3[Option ID=22963]
4[Option ID=22964]

Sl. No.117
QBID:12201017

The first World War was a stimulant for the
development of

. Radio

. Films

. The Press

. The Internet

o P —

(1) 1

() 2

3) 3

(@) 4

T fauyg Fofafed © 4 o e & & S5ue un
1. 3fEat

Bowo

A ﬁ)ﬂj
Erl

A

A

[

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22965]
2[Option ID=22966]

3[Option ID=22967]
4[Option ID=22968]




Sl. No.118
QBID:12201018

In communication, the three major areas of analysis
are:

A. particularism
B. semiotics
C. syntactics
D. programatics
E. virtual reality

Choose the correct answer from the options given
below:

1. A B and C only
2.B,Cand D only
3.C,Dand E only
4. A, D and E only

1) 1
() 2
(3) 3
(4) 4

TN H =yl & oiF U & 1 5?

A. fafpararg

8. Heopafaw

C. g faarg fagm

D. BHHHAG

£ HTHTE gury

i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B3R C
2.%4qq B, C 3R D

3. WA C, D ARE
4. HaaA DR E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22969]
2[Option ID=22970]

3[Option ID=22971]
4[Option ID=22972]

Sl. No.119
QBID:12201019




To be effective, classroom communication must be
A. Top down

B. Analytical

C. Unresponsive

D. Adjustable

E. Progressive

Choose the correct answer from the options given
below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B,D and Eonly

1) 1
(2) 2
(3) 3
4) 4

qyTdt 84 & oY wan-der g & 9 g afeu
A, ST

B. fazciuumeT®

C. dufafdhania

D. GHEY

E. Wi

o feu U fadeal H U Ugl IR 94 -

1.BaAAA, B AR C
2.%dq e, CHR D
3.HadC, D3R E
4.%ad B, D3R E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22973]
2[Option ID=22974]
3[Option ID=22975]
4[Option ID=22976]

Sl. No.120
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Given below are two statements:

Statement |: The Internet has provided new
communication channels to youngsters in societies
that are socially conditioned.

Statement IIl: The new media can be used for
harmless fun and entertainment, but otherwise
also.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
(3) 3
(4) 4

BERAGIE AR
HYF - | G T I IPicd GHrel J ge34e 3 aT figl &1 ¢ ¥R 77 G B

FYF - 1 : TC A10H BT YN B-Riad AHG-THG AR FAReH & 08 [&al of 9@ & | dfe- 98
Syt i g T g

Iudad dyHl & cie | FefaRad fGeddl § 9 98 3 g -
1. @Y | 3R 1 GF 981 8l
2. YT AR I GHI Tad &

3. HYF 1 el g, fooeg YA 11 TTad B
4. Y1 7TAd & , fb=g By 11 98T 21

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22977]
2[Option ID=22978]

3[Option ID=22979]
4[Option ID=22980]

Sl. No.121
QBID:12201021

In a bookshop, 40% of the books are in English.
QOut of the remaining books 60% are in Hindi. The
remaining 3600 books are in other regional
languages. Find the total number of books in the
bookshop.

1. 15,000
2. 16,000
3. 18,000
4, 20,000

1) 1




) 2
3) 3
(4) 4

Ul &1 eb G H 40 9% Tich 3ol H &1 <l g3 Tl D1 60 % el H 81 J9 &l 3,600 Gdicb
HA & e | B Tam! @ gBH H $d [ [dadl 87

15,000
16,000
18,000
20,000

N

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22981]
2[Option ID=22982]
3[Option ID=22983]
4[Option ID=22984]

Sl. No.122
QBID:12201022

Find the value of the following expression:

5.2%x52—-25 x2.5
Tx27

20.79
' 20.25
20.75

20.50
3.2

(1)
(2)
(3)
(4)

A W N =

1)
(2)
(3)
(4)

A W N =

1[Option ID=22985]
2[Option ID=22986]
3[Option ID=22987]
4[Option ID=22988]




Sl. No.123
QBID:12201023

If Ais an integer, then which of the following
statement(s) is/are true?

A. A+1 will be odd
B. A2+2 will be odd
C. A+2 will be odd
D. 2A-1 will be odd
E. A%+1 will be odd

Choose the correct answer from the options given
below:

1. A and B only
2. A Band Conly
3.D and E only
4. D only

1)
(2)
(3)
(4)

A W N R

% A U@ TN &, df FEfiea § 9 @F 9/8 Y9 Td 8/8?
A A+1 T (e da gl
B. AZ+2 Ud fawd Fw=H gt
C. A+2 U fawH der gt
D. 2A-1 U fawd G= il
E. Al+1 U@ fqug d@= Bt
i< feu e fawedl 5 9 98l 3w 9 -
1.Ha0 A R B
2. BadA, B AR C

3. ®ad D AR E
4.HaAD

1)
(2)
(3)
(4)

A W N R

1[Option ID=22989]
2[Option ID=22990]
3[Option ID=22991]
4[Option ID=22992]

Sl. No.124
QBID:12201024




If the fractions 2/5, 3/8, 4/9, 5/13 and 6/11 are
arranged in ascending order of their values, then
which of the fractions will be the third in the
ordered sequence?

1.2/5
2.4/9
3.5/13
4.3/8

1)
(2)
(3)
(4)

A W N R

ofe fi=f 275, 3/8, 4/9, 5/13 3R 6/11 @ 3k AF & HRIel HH H O01 9 dl 39 &5 H dER
R R ®F 91 g ghme

1.2/5
2.4/9
3.5/13
4.3/8

1)
(2)
(3)
(4)

A W N =

1[Option ID=22993]
2[Option ID=22994]
3[Option ID=22995]
4[Option ID=22996]

Sl. No.125
QBID:12201025

If in a coded language, 154" means 'Good

and Tasty’; '4 6 8 means ‘See Good Pictures’; and "6
2 9" means 'Pictures are Faint’. then which of the
following digit stands for 'See'?

1.9
2.8
3.4
4.6

1)
(2)
(3)
(4)

A W N R

OfE Tt e YT & 154° &1 3 3= iR WIEy:, 469 &7 o B <@ 38 fa, ofi ‘620" @1
Hf g o € dyar, @ Fofafaa & @ o e <@ o Rfey seare?

1.9
2.8
3.4
4.6




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22997]
2[Option ID=22998]

3[Option ID=22999]
4[Option ID=23000]

Sl. No.126
QBID:12201026

"Does the distinguished Member of the Parliament
really believe that the Indian public is so naive that
they will endorse just any stopgap measure™?
Which fallacy is committed in the above
arugument?

1. Begging the question
2. Red Herring

3. Appeal to Ignorance
4. Complex Question

1) 1
(2) 2
3) 3
(4) 4

I HEA SE 96 aad H Ay S € [ YR & A 304 Hid-Hd © o d faedt
FHHFANS UM BT TAYT HL12 IWRIad HUA H 50 ISR &1 dham &2

1. AT G

2.3 el

R B IR EGIR AR IDES
4. FAUY

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23001]
2[Option ID=23002]

3[Option ID=23003]
4[Option ID=23004]

Sl. No.127
QBID:12201027

If the statement - "Some pandas are herbivorous
animals”, is given as true, then which of the
following statements can be immediately inferred
to be false?

1. No pandas are herbivorous animals.
2. All pandas are herbivorous animals.
3. Some pandas are not herbivorous animals.
4. All herbivorous animals are pandas.

1) 1
(2) 2
(3) 3




(4) 4

% Y " $S Uie] MBRR dHR & & I & 0 1 G g, ad FufafGa d d s @
HYA @R &1 U 38 8H & &9 H HTHIH [0l o Idhdl 87

1. @15 i OIS SRR S T8l &
2. v UTST METRRI TR |

3. DB UIS] ASERI SR 781 8 |
4. Tl AFPRRT TER UiST B

1)
(2)
(3)
(4)

A W N R

1[Option ID=23005]
2[Option ID=23006]
3[Option ID=23007]
4[Option ID=23008]

Sl. No.128
QBID:12201028

Which of the following statements are so related
that they cannot both be false, although they may
both be true?

A, All mushrooms are fungi.

B. No mushrooms are fungi.

C. Some mushrooms are fungi.

D. Some mushrooms are not fungi.

Choose the correct answer from the options given
below:

1.Cand D only
2. A and B only
3. Aand Conly
4.B and D only

1)
(2)
(3)
(4)

A W N R




FafaRad H 9 @H-1 Y9 38 YOR 9 946190 § (0 d 3H1 U 91y 349 Tl 5l 9ad; 990 d gHf
T &l 9dhd o7
A G HYEH HID ¢
5. ®13 *ff TR Haw Te &
C.PS HREH had g |
D. TS U HaP el &
=< feu 7Tu fadedl 5 9 981 SR 9 -
1.@dd C 3R D
2. dd A 3R B

3. HAAA AR C
4.%dd B 3R D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23009]
2[Option ID=23010]

3[Option ID=23011]
4[Option ID=23012]

Sl. No.129
QBID:12201029

Which of the following statements are logically

equivalent?

A. Some plants are non-fungi.

B. Some plants are not fungi.

C. Some fungi are plants.

D. Some non-fungi are not non-plants.

Choose the correct answer from the options given
below:

1.B, Cand D only
2.B and C only

3.A Cand D only
4. A Band D only

(1)1
(2) 2
(3) 3
(4) 4




ufdiad ®H-4 $u- diihe U I 90 &7

A DS Ul TR-$ad g

B. TS UIY Ha® -Tgl g

C. $3 Hdd YU E|

D. $% R-®a®, IR-UI4 5l ¢

i< feu e fawedl 5 9 98l 3w 9 -
1.®aa B, C AR D
2. %90 B AR C

3. ®WaAA, C3MRD
4. HAdAA B AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=23013]
2[Option ID=23014]
3[Option ID=23015]
4[Option ID=23016]

Sl. No.130
QBID:12201030

According to classical Indian School of logic
(Nyaya) which of the following steps of inference
(anumana) corresponds to application (upnaya)?

A. That mountain has fire.
B. Whatever has smoke has fire, e.g. an oven.

C. That mountain has smoke such as is invariably
accompanied by fire.

D. Because it has smoke.
E. Therefore that mountain has fire.

Choose the correct answer from the options given
below:

1. C only
2. Aonly
3.Cand Eonly
4. D only

1)
(2)
(3)
(4)

A W N R




YR AR 10 Hd & HR FafiRad @ 91/ @Rl 309 & 95Fl 6/8 ?
A U TEd R M &

B. STgl-wTal 431 &, 98l 9o 3 ¢, Y Ieall

C. 39 Udd W 43{l § i1 b 3R U & Ty HRuare-3y ° faemM @@oy) Edl g
D. T 39 TR Y3 &1
E. SHY 39 Udd TR 3T &
i< f&T 70 fadedi # 9 981 ST I -
1. ®da C
2. Had A

3. HaACIIRE
4.%ad D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23017]
2[Option ID=23018]

3[Option ID=23019]
4[Option ID=23020]

Sl. No.131
QBID:12201031

Tina has bought a 4 gigabyte MP3 player. If each
song lasts 3 minutes and is recorded at 128 kilo
bits per second, then how many songs can be
stored on Tina's MP3 player?

1. 1156
2.1256
3.1356
4.1456

(1) 1
(2) 2
(3) 3
(4) 4

A1 U@ 4 TS & MP2 WER TG 3 Uad 7fid 3 fiFe 9@ audr g 2R 128 [Eaifee ufa-
YhUg B g2 W T8 o 911 : da SH1 & Mp3 IR ¥ g+ 1ial & dufed g s g&dn g 2

1. 1156
2.1256
3. 1356
4. 1456

1)
(2)
(3)
(4)

A W N R

1[Option ID=23021]
2[Option ID=23022]




3[Option ID=23023]
4[Option ID=23024]

Sl. No.132
QBID:12201032

Which of the following statements about email are
TRUE?

A. You can create folders to store and organise your
emails.

B. Using the Cc feature will hide all other recipients
from each other.

C. You can add attachments of any file size to an
email.

D. You can add signatures to your emails to give
personal contact details.

E. You can only send emails from a laptop
computer.

Choose the correct answer from the options given
below:

1. A and B only
2.Aand Conly
3. A and D only
4.B, C and E only

1)
(2)
(3)
(4)

A W N R

3-He & 9N H Fafeiad o19-4 y9 9d 87
A. 30 304 3-09 &1 Y8 - U4 YHaid &3 &g Bics? &1 9dd 8|
8. T Tt (Cc) FaRmaT (BER) &1 R Tt 37 Uradbdisi &1 Uh-gar 4 i &
C. 3 fordt 3-0a o fpdt off oaR ardl BiEd & siegte (Haud)) & Jdg o1 (91s) Tdhd ol
D. 1Y f-¥ofl Yudh [0 UgH gq 30+ 3-Hd H §X1&R & Iai¥ (J1s) &R Jdbd ¢ |
E. 31U thad cideld § g1 3-Ha Uit &2 Habd gl
i< feu 7Tu fadedl § 9 98l SR 9 -
1. ®ad A 3R B
2. Bad A R C

3. HIdA AR D
4.HaAB, C ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=23025]
2[Option ID=23026]




3[Option ID=23027]
4[Option ID=23028]

Sl. No.133
QBID:12201033

Given below are two statements:

Statement I: .ixt, .rtf and .csv are three file
extensions used for generic text files.

Statement II: .rar file extension is an acronym for
Roshal ARchive; deveoped by Russian software
engineer Eugene Roshal.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1) 1
(2) 2
(3) 3
(4) 4

DY - 1 .ixt, rtf R .csv YHT UIS (2 BIgal og WG g ald o BIgd TaesH (fawR) g

DU - 1l : _rar BIS0 UGICTH AT Hdbigd B URAT et ¢ ol ST WA eill-ER goiH
e A fawita e uni

U BYAl & e F FafaRad G § 9 98 Iwm g -
1. YT | AR 11 SHI T 2
2. %Y | AR 11 G Tad & |
3. @Y | el g, faeg YA 11 TTad g
4. YA | a8, fbeg BYA 11 HE B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23029]
2[Option ID=23030]

3[Option ID=23031]
4[Option ID=23032]

Sl. No.134
QBID:12201034

Which one of the follwing acronyms matches
incorrectly with their full form?

1. VolIP - Voice Over Internet Protocol

2. WLAN - Wired Local Area Network

3. HTML - Hyper Text Markup Language

4. CMQS - Complementary Metal Oxide
Semiconductor

1 1




) 2
3) 3
(4) 4

frafaied 3 9 o191t uRavil 2eg 310 gui-149  TTefd Hid 8§ AR &7

1. VolP = G139 3TaX FUeTE U@

2. WLAN = G108 didd TRl "ead

3. HTML = BTOUR ¢aRe AId 3] didd

4. CMOS = BifGH] Jed 3fazs SHdbsaet

1)
(2)
(3)
(4)

A W N R

1[Option ID=23033]
2[Option ID=23034]
3[Option ID=23035]
4[Option ID=23036]

Sl. No.135
QBID:12201035

|dentify the correct order of the following memory
types in decreasing order of access time.

A RAM

B. SSD

C. CPU Cache

Choose the correct answer from the options given
below:

1.ACB
2.CAB
3.B,CA
4.B A C

1)
(2)
(3)
(4)

AT 3afY & AWl B9 | Fgfaiad T9R UeRI & 9sl-Hd @ [dfed S

A. RAM (3R T TH)

A W N R

B. SSD (TU Tg 8))

C. CPU Cache (& U1 J d2l)

o fGu U fodheal 3 9 98 S g -
1.A C B
2.CAB

3.B.CA
4.B, A C

1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=23037]
2[Option ID=23038]
3[Option ID=23039]
4[Option ID=23040]

Sl. No.136
QBID:12201036

Which of the following Millenium Deveopment
Goals (MDGs) had the highest number of targets?

1. Goal 5 : Improve Maternal Health

2. Goal 6: Combat HIV / AIDS

3. Goal 7 : Ensure Environmental Sustainability

4. Goal 8 : Develop a Global Partnership for
Development

(1)1
(2) 2
(3) 3
(4) 4

FofaRad Ueare] fae™ Se3af (Tq 21 o) § ¥ fad <ifiean dsg o7

1. 35%4 5 : HIg® W@ H gUR

2. 357 6 : Udeilzdl / USH ¥ aTadl

3. 3584 7 : A1 addl gHET S

4,359 o : G o foe afys vrfierd s &<

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23041]
2[Option ID=23042]

3[Option ID=23043]
4[Option ID=23044]

Sl. No.137
QBID:12201037

Which of the following diseases are caused by
atmospheric particulate matters?

A. Asthama

B. Melanoma

C. Dry Eye Syndrome

D. Bronchitis

E. Chronic Obstructive Pulmonary Diseases (COPD)

Choose the correct answer from the options given
below:

1. A B, Cand D only
2.B,C, D and E only
3.A C DandEonly
4. A B, DandE only




1) 1
(2) 2
(3) 3
(4) 4

Frafafad # € @1 9 I TgHSH S0 Uel & BRI B 52
AGH
B. HeHHEl
C. @I i@ Jagm
D. 4& Ty
£. R@1ied a1ud Brpd 0 (@l 3 di )
i< feu e faweal 5 9 981 IR 9 -
1.®Ad A, B, CIRD
2.%4q0B,C, D IRE

3.®BAAA, C, DIIRE
4.9 A, B, DARE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23045]
2[Option ID=23046]

3[Option ID=23047]
4[Option ID=23048]

Sl. No.138
QBID:12201038

Given below are two statements:

Statement I: Amount of oxygen dissolved in water
is a good indicator of water quality and of the kinds
of life it will suppport.

Statement Il: Chemical Oxygen Demand (COD) is a
measure of dissolved oxygen consumed by aquatic
microorganisms.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
4) 4




T - | - oI H gel o &1 O Jd &) UIad] 3R 396 gRI 991id oiad & UeR! &1 ie
I Hbad gl

DY - 1| : IS AR T (@l 31 SY) Sy gersiiadl gR1SUHN S T3 ol g3 Ao
3 AUS g

Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -
1. @Y | 3R 11 GH 981 8l
2. YT AR I GHI Tad g

3. @Y | Hel g, faeg YA 11 Tad g
4. @ T T, g I I TR B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23049]
2[Option ID=23050]

3[Option ID=23051]
4[Option ID=23052]

Sl. No.139
QBID:12201039

Given below are two statements:

Statement I: Reactor is the heart of any nuclear
power plant.

Statement II: In case of nuclear power plants,
except the reactor, the technology is exactly similar
to any other fossil fueled power plant.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




T - | ; Ruge foodt +ff Tiftieig Fofl 997 o1 gcg giar |

FYF - 1| ; TS SHoil G471 & qa 5, Woaex & Ram g ot O o oy 339 9 9aq
ardd Hoit T4 & IH Bl 8l

Sudad @Yl & aie § FufaRad el 1 3 wel S A -
1. BYT 1 3R 1 SHT I '
2. YA | AR 11 SF AT &

3. Y TR 7, g &Y 1 T B
4. U T ¢, g B I T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23053]
2[Option ID=23054]
3[Option ID=23055]
4[Option ID=23056]

Sl. No.140
QBID:12201040

Which one of the following pollutants is
responsible for acid rain formation?

1. CHy (Methane)

2. CgHg (Benzene)

3. 50; (Sulphur dioxide)
4. CO ( Carbon monoxide)

1)
(2)
(3)
(4)

fufeiRad o 9 & 1 Ughd 3%y aui i I91 & e S<Rer 82

1. CHy (1)
2. CgHg (@5iF)
3. 50, (S7P 313 HFES)
4. CO (@& AT AFES)

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=23057]
2[Option ID=23058]
3[Option ID=23059]
4[Option ID=23060]

Sl. No.141
QBID:12201041




As per NEP-2020, for offering a 4-year integrated
teacher preparation programme, all the Teacher
Education Institutions (TEls) will be required to
convert to multidisciplinary institutions by:

1. 2030
2.2040
3. 2025
4. 2035

(1) 1
(2) 2
(3) 3
(4) 4

T3 & Fifd-2020 & YR, Ud 4 T GHdd 46 ORI SHEH S LS B od 94l
e e GRmr (@ S o) @ 95-0we Yl & ¥ § Fgifed &g ad o afafdd &
L

1. 2030
2.2040
3. 2025
4. 2035

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23061]
2[Option ID=23062]

3[Option ID=23063]
4[Option ID=23064]

Sl. No.142
QBID:12201042

Find out the names of ancient Indian universities
whose names are mentioned in NEP 20207

A. Nalanda

B. Takshashila
C. Mithila

D. Valabhi

E. Vikramshila

Choose the correct answer from the options given
below:

1.C, D and E only
2.A, B, Cand E only
3.A B, D and E only
4. A, Band D only

1 1
(2) 2
3) 3




(4) 4

T3 fren =fifa 2020 & Sfcafaa wRiF YR Ayt & 9 &f 91d S|
A, FTE
B. TaIfaran
c. fafdar
D. gaHt
. et
<< feu e fadeal & 4 9l SR 94 -
1. ®aa C, D R E
2.%ad A, B, C ARE

3. BIAA, B, D AR E
4. HAAA, B IR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23065]
2[Option ID=23066]

3[Option ID=23067]
4[Option ID=23068]

Sl. No.143
QBID:12201043

Which of the following universities were
established under the provision of the Acts of
incorporation passed by the governor-general and
Viceroy Lord Canning, in January 1857.

A, Calcutta
B. Panjab

C. Madras
D. Bombay

Choose the correct answer from the options given
below:

1. A and D only
2. A, Band Conly
3.A Cand D only
4.A B, CandD

(1) 1
(2) 2
(3) 3
(4) 4




Ta-R-97d Ud a9 al8 &1 gRI Wil 1957 H UIid e U gadeH & ifaFaaf & Susy
@ Jiqrid FafiRad ®F-Y fayfaenaal of =g &1 1 A

A. eIl

B. ol

C. Hal¥

D. g

=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A 3R D
2. Bad A, BIHR C

3. AT A, C3MRD
4.A B,C3HRD

(1)
(2)
(3)
(4)

A W N R

1[Option ID=23069]
2[Option ID=23070]
3[Option ID=23071]
4[Option ID=23072]

Sl. No.144
QBID:12201044

How many regional centers of UGC are there in
India?

1. Four
2. Five
3. Six
4. Eight

1)
(2)
(3)
(4)

YR & g ot i & oo & g &7
1.9R
2.°01g

ENH
4. 313

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=23073]
2[Option ID=23074]
3[Option ID=23075]
4[Option ID=23076]

Sl. No.145
QBID:12201045




National Programme on Technology Enhanced
Learning (NPTEL) is the largest online repository in
the world of courses in:

A. Yoga and Meditation

B. Engineering

C. Visual Arts

D. Basic Sciences

E. Selected Humanities and Management Subjects

Choose the correct answer from the options given
below:

1. A CandE only
2.B and C only

3.B, D and E only

4. A, B, Cand D only

1)
(2)
(3)
(4)

A W N R

TIenTes! Haiila i W AP SRieH (03 U €1 S 1) fay 6 ureasHl &1 9ad 91 Sl
e &
A TR 3R &
B. HTHTIE®I
C. ER0 Fay
D. Hayd Tz
E. ifeT AFTE®! SR UeeH fawg
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A, C3RE
2. %aa B R C

3.%ad B, D AR E
4. BATAA, B, C HR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=23077]
2[Option ID=23078]
3[Option ID=23079]
4[Option ID=23080]

Sl. No.146
QBID:12201046




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.
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The above passage has most likely been taken from
a text on

1. Human Biclogy

2. Parent Education

3. Emotional Development
4. Children Upbringing

(1) 1
(2) 2
(3) 3
(4) 4

IULd T HallUe dHaadl fd e § fagr mang?

1. AFd g fagmH

2. Ora1-fudn (3iftrurads) fuan
3. Hamd® fadprg

4. §=A] BT UTaH-91mo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23081]
2[Option ID=23082]

3[Option ID=23083]
4[Option ID=23084]

Sl. No.147
QBID:12201047




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.
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Given below are two statements, one is labelled as
Assertion (A) and the other is labelled as Reason
(R).

Assertion (A): An infant's avoidance of unpleasant
stimulations or situations is limited.

Reason (R): An infant is unable to decode the
emotions expressed from others’ faces.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both [A) and (R) are correct and (R) is the
correct explanation of (A).

2. Both (A) and (R) are correct and (R) is the
correct explanation of (A).

3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1) 1
(2) 2
(3) 3
(4) 4




TG By RETEE : T @l 3@ (A) 3R G @ BRY (R) Bel T 5|

HTHHY (A) : U 28] & AU e SeiuA ar Rufeat &1 uiter it 21

DR (R) : U I T & dUes @1 GaTH® A ffad & faded @3- § sad gar g
Iuddd DYl & HIclld | HHildd [ddbedl H 4 el 9t g :

1. (A) 3R (R) TFI Uel & 3R (R), (A) BT Tel ARAT & |
2.(A) 3R (R) ST 981 § TR (R), (A) 1 Hel AR T2l 31
3. (A) W8I § W (R) 981 TRI &
4. (A) W8I Tel § IRq (R) el &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=23085]
2[Option ID=23086]
3[Option ID=23087]
4[Option ID=23088]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.
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The angry face of a parent will most likely generate
which among the following responses in a new
born child.

A. Crying

B. A smiling face to pacify the parent.
C. Sucking the edge of a blanket .

D. 'Pick-me-up’ gesture.

Choose the correct answer from the options given
below:

1. A, B and Conly
2. A, Cand D only
3.B,Cand D only
4. A, B and D only

(1)1
(2) 2
(3) 3
(4) 4




HIAT-MUdT BT HIUHd A=A e Y Uh Aged 28] § & H-H Hitd Guifdd srfhar ude gril?
A, FaedrT

B. HTAT-fdT & 2id B3 &d TEPee W I

C. Had & [ DI LI

D. Hgl TMicl § Jaral @1 Habd

i< feu T fasenl 5 94 98 Iw g -
1.®ad A, B AR C
2.Had A, C 3R D

3. ®ad B, C AR D
4.%HadA BIARD

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=23089]
2[Option ID=23090]

3[Option ID=23091]
4[Option ID=23092]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.
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Given below are two statements:

Statement I ‘Approach’ is an emotional arousal
response in an infant towards pleasant stimulation.

Statement Il: An infant has little understanding of
the emotions conveyed through facial expressions
of others.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4. Statement | is incorrect but Statement Il is
correct.

(1) 1
(2) 2
(3) 3
(4) 4




EIEEAEAIE AT R
@Y - | ; FUNH U ] H faie=iia ISR & Ui ST 3givq S3iear g
T - 11 : T AR Bl TR D1 A Hreafeal gR1 T0ftd ol &1 91y HH gl o
Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -

1. % 1 3R 1| GH 91 B

2. % | AR 1 S TTEd 2

3. @Y | 9l &, firrqg @Y 11 TEd B

4. T TTAd E , g YA 1 T8 B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=23093]
2[Option ID=23094]
3[Option ID=23095]
4[Option ID=23096]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.
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8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

Continued parental despondency could cause
which of the following changes in an infant?

A. Alteration in sleep pattern

B. Increasingly irritable behaviour
C. Reduction in anxiety levels

D. Increased anger

Choose the correct answer from the options given
below:

1. A, B and Conly
2. A, B and D only
3.B,Cand D only
4.4 B, CandD

OR!
2) 2
3) 3
(4) 4




HiHIG® (H11-IUan &1 9dd 3aRil & &R U 9] H FHafiRed § @H-9 uRadd gl 9@d g 7
A. T & Hiaed H gRad
8. Frgfgu amaeR # &
C. Teiarrdl Rl # St
D. ®IUH gl
i< feu e faweal 5 9 981 IR 9 -
1.®ad A B3R C
2.Had A, B3R D

3. %4 B, C AR D
4.A B C3HRD

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23097]
2[Option ID=23098]

3[Option ID=23099]
4[Option ID=23100]




